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The following table presents the data on the number of vehicles of three different types (A, B
and C) produced by a company during seven different years from 2012 to 2018. Based on the
data in the table, answer the questions 1- 5 :

Year — wise production of three types of vehicles

Vehic
Yﬁar A - Type | B - Type | C - Type
2012 5000 20000 15000
2013 15,000 10000 22500
2014 10,000 15000 30000
2015 17,500 15000 23000
2016 25,000 20,000 15000
2017 13,000 25,000 20000
2018 30,000 35,000 25000
Sub questions

Question Number : 1 Question Id : 6154757054 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The following table presents the data on the number of vehicles of three different tvpes (A. B
and C) produced by a company during seven different vears from 2012 to 2018. Based on the
data 1n the table. answer the questions 1- 5 :

Year — wise production of three tvpes of vehicles

Vehicle
Year A - Type B - Type C - Type
v
2012 2000 20000 15000
2013 15.000 10000 22500
2014 10.000 15000 30000
2015 17.500 15000 23000
2016 25.000 20.000 15000
2017 13.000 25.000 20000
2018 30,000 32.000 25000

Options:

61547527501, 1
61547527502 2
61547527502 2
E1547527504 4

Question Number : 2 Question Id : 6154757055 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The number of A — type vehicles produced in the year 2014 was what percent (%) of the
number of C-type vehicles produced in the year 20167

(1) ~ 33.33 % (2) ~66.67%
(3) 50 % 4 15%
Options:

BE1547527505. 1
B1547527506. 2
B1547527507. 3
61547527508, 4

Question Number : 3 Question Id : 6154757056 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In how many years was the production of A — type vehicles less than its average production
over the given years?

(1) 2 (2) 4
(3) 3 4 1
Options:

615475275091
61547527510, 2
E1547527511. 3
B1547527512. 4

Question Number : 4 Question Id : 6154757057 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What was the average number of B — type vehicles produced by the company over the years?

(1) 20000 (2) 25000
(3) 15000 (4) 30000
Options:

B1547527513. 1
B1547527514. 2
61547527515 3
61547527516, 4

Question Number : 5 Question Id : 6154757058 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which of the following years was the total production of all the three types of
vehicles 600007

(1) 2013 (2) 2014
(3) 2015 (4) 2016
Options:

615475275171
61547527518, 2
61547527519, 3



B1547527520. 4

Question Id : 6154757053 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (1to5)
Cesticn Label | Comprehiension
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2012 5000 20000 15000
2013 15,000 10000 22500
2014 10,000 15000 20000
2015 17,500 15000 23000
2016 25,000 20,000 15000
2017 13,000 25,000 20000
2018 30,000 35,000 25000

Sub questions

Question Number : 1 Question Id : 6154757054 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) 10 % 2) 5%
3) 20% 4) 25%
Options:

615475275011
61547527502 2
61547527503, 3
E1547527504. 4

Question Number : 2 Question Id : 6154757055 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T4 2014 | IeATEd A ST aTEA1 = TG 99 2016 § IeArted C 3T ATEAT 6 Tem w1 R ufdera are

1) ~33.33% (2) ~66.67%
(3)  50% 4) 15%

Options:



BE1547527505. 1
61547527506, 2
B1547527507. 3
61547527508, 4

Question Number : 3 Question Id : 6154757056 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

. = e

= o ma =3 g s 5 - el
Tras a9t & A TTET ITEAT =Rl 3cdTad 169 TH 991 H HTHEd 3cd1ad 9 =FH 917

(1) 2 (2) 4
(3) 3 4 1
Options:

B1547527509. 1
61547527510 2
61547527511, 3
61547527512 4

Question Number : 4 Question Id : 6154757057 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 20000 (2) 25000
(3) 15000 (4) 30000
Options:

615475275121
61547527514, 2
E1547527515. 3
B1547527516. 4

Question Number : 5 Question Id : 6154757058 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 2013 (2) 2014
(3) 2015 (4) 2016
Options:

E1547527517. 1
61547527518, 2
B1547527518. 3
B1547527520. 4



Sub-Section Number: 2
Sub-Section 1d: 615475315
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 6154757059 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

By selling 70 pencils for Rs.90/- a person makes a loss of 25%. How many pencils should be

sold for Rs.234 to have a profit of 30%?

(1) 95 (2) 100

(3) 105 (4) 110
Options:
51547527521,
E1547527522.
B1547527525
61547527524

o LI

Question Number : 6 Question Id : 6154757059 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
UF =FEd 70 e ®1 90 T H 39 F 25% B 32T 7 | 30% AT FHE & 0 234 9= H ThaAl
UTer ST BRI Y

(1) 9b (2) 100
(3) 105 (4) 110
Options:

BE1547527521. 1
B1547527522. 2
B1547527523. 3
B1547527524. 4

Question Number : 7 Question Id : 6154757060 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In what ratio must a vendor mix two varieties of sugar worth Rs.60 per kg and Rs.78 per kg
so that by selling the mixture at Rs.76.8 per kg, the vendor gains 20%?

(1) i ) 7:2
(3) hia 4) 5H:2
Options:

E1547527525. 1
BE1547527526. 2
B1547527527. 3
B1547527528. 4

Question Number : 7 Question Id : 6154757060 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 Wrong Marks: 0
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(1) 114 2y 7:2
(3) 518 1) D2
Options:

B1547527525. 1
B1547527526. 2
G1547527527. 3
61547527528, 4

Question Number : 8 Question Id : 6154757061 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which given of the following sets of letters when sequentially placed at the gaps 1n the letter
series below shall complete 1t?

bb b ab chba bebb

(1) achac (2) achbbb
(3) cbhbhba (4) abbbe
Options:

B1547527529. 1
61547527530, 2
61547527521, 3
E1547527532. 4

Question Number : 8 Question Id : 6154757061 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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gt 31

bb b ab cbba  bebb

(1) achac (2) achbbhb
(3) chbbha (4) abbbe
Options:

615475275291
E1547527530. 2
E1547527521. 3
B1547527532. 4

Question Number : 9 Question Id : 6154757062 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Out of a total of 10 students, the average weight of 9 students is 60 kg. If the weight of the
10t student is 9 kg more than the average weight of all the 10 students, then the weight of
the 10t student would be :

(1) 61 kg. (2) 69 kg.
3) 70kg. 4) Tlke.
Options:

61547527532 1
E1547527534. 2
B1547527535. 3
B1547527536. 4

Question Number : 9 Question Id : 6154757062 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
et 10 fammiear 5 & 9 faenten =1 sitas === 60 .01 2 | 3tz 10 o faen=i =1 o= adt 10 fa=nfr= =
siod 999 § 9 .. =1fa= 2, @1 109 feenefi =1 9= =

(1) 61 .. (2) 69 fHm.
(3) 70 T .. (4) 71,
Options:

B1547527533. 1
61547527534, 2
61547527535 3
61547527536, 4

Question Number : 10 Question Id : 6154757063 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following was not a Millennium Development Goal (MDG)?

(1) Eradicate extreme poverty and hunger
(2) Improve maternal health
(3) Ensure healthy lives and promote well being for all at all ages
(4) Ensure environmental sustainability
Options:

61547527537, 1
B1547527538. 2
B1547527539. 3
B1547527540. 4

Question Number : 10 Question Id : 6154757063 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547527537, 1

61547527538, 2

B1547527539. 3
61547527540, 4

Question Number : 11 Question Id : 6154757064 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Choose the person who has control over self, mode of communication and method of delivery
in class room from the following :

(1) Student (2) Teacher
(3) Audience (4) Visitor
Options:

B1547527541. 1
B1547527542 2
61547527543 3
E1547527544. 4

Question Number : 11 Question Id : 6154757064 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547527541. 1
B1547527542 2
B1547527543. 3
61547527544, 4

Question Number : 12 Question Id : 6154757065 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Select the period in which India became a centre of higher learning.

(1) Gupta Period (2) Buddha Period
(3) Mughal Period (4) British Period
Options:

61547527545 1
E154752754E. 2
B1547527547. 3
B1547527548. 4

Question Number : 12 Question Id : 6154757065 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547527545 1
61547527546, 2
E1547527547. 3
B1547527548. 4

Question Number : 13 Question Id : 6154757066 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following groups has the components of paralanguage communication?

(1) Voice, Emphasis and Impression
(2) Social Space, Voice and Impression
(3) Voice, Social Space and Expression

(4) Emphasis, Social Space and Voice

Options:

61547527549 1
61547527550 2
61547527551, 5
61547527552 4

Question Number : 13 Question Id : 6154757066 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547527549 1
61547527550 2
E1547527551. 2
61547527552 4

Question Number : 14 Question Id : 6154757067 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

How many National Parks and Wildlife Sancturies were there in India till March 20117

(1) 8 and 421 only (2) 10 and 75 only
(3) 75 and 421 only (4) 102 and 515 only
Options:

E1547527553. 1
B1547527554. 2
61547527555 3
61547527556, 4

Question Number : 14 Question Id : 6154757067 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) a8 &R 421 (2) Had 10 31 75
(3) IS 75 W 421 (4) FaA 102 3R 515
Options:

61547527553, 1
E1547527554. 2
B1547527555. 3
B1547527556. 4



Question Number : 15 Question Id : 6154757068 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following 1s signified by Udaharana of Anumiana (Inference) in

Indian Logic?

(1) Statement of reason

(2) Proposition to be proved

(3} Conclusion proved

(4) Universal proposition along with an instance
Options:

E1547527557. 1
61547527558, 2
E1547527559. 3
B1547527560. 4

Question Number : 15 Question Id : 6154757068 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
61547527557 1
E1547527558. 2
E154Y527559 3
61547527560 4

Question Number : 16 Question Id : 6154757069 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Devdatta 1z fat and he does not eat during the day. Therefore. Devadatta 1s eating during

the mght.

The above example. 1n classical Indian School of Logic. 15 a case of :

(1) Comparison (2) Implcation
(3) Perception (4) Verbal Testimony
Options:

BE15475275E1. 1
B1547527562. 2
B1547527563. 3
61547527564, 4

Question Number : 16 Question Id : 6154757069 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
615475275611
61547527562 2
61547527563 2
1547527564 4

Question Number : 17 Question Id : 6154757070 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

As per the classical square of opposition, if ‘A’ proposition is given as true, then which one
of the following is correct?

(1) “E” proposition 1s false, “I” proposition is true and “O” proposition 1is false

(2) “E” proposition 1s true, “I” proposition is true and “O” proposition is true

(3) “E” proposition is false, “I” proposition is false and “O” proposition is true

(4) “E” proposition 1is true, “I” proposition is false and “O” proposition is false
Options:

B1547527565. 1
B1547527566. 2
E1547527567. 3



BE1547527568. 4

Question Number : 17 Question Id : 6154757070 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547527565, 1

61547527566, 2

61547527567, 3

61547527568 4

Question Number : 18 Question Id : 6154757071 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following propositions is a contrary to “All poets are dreamers”?

(1) Some poets are dreamers (2) Some poets are not dreamers
(3) No poets are dreamers (4) No dreamers are poets
Options:

615475275651
E1547527570. 2
61547527571, 3
B1547527572. 4

Question Number : 18 Question Id : 6154757071 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6154752756491
E1547527570. 2
E1547527571. 3
B1547527572. 4

Question Number : 19 Question Id : 6154757072 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which among the following is NOT a component of effective teaching?

(1) Questioning to check for the understanding of students
(2) Providing students with feedback

(3) Being flexible about how long it takes to learn

(4) Reactive mode of student’s behaviour
Options:
61547527573. 1
61547527574, 2
61547527575, 3
61547527576, 4

Question Number : 19 Question Id : 6154757072 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

615475275731
61547527574 2
61547527575 2
1547527576, 4

Question Number : 20 Question Id : 6154757073 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following factors doesn’t contribute to assessment bias?

(1) When language of the test and the tester is different from the languages of the

students

(2) Answers that support middle — class values

(3) If assessment procedures are flexible and diverse to make disadvantaged students
comfortable

(4) Objective test for assessing abstract reasoning of the student.

Options:
615475275771
6154752757 E 2



B1547527573. 3
B1547527580. 4

Question Number : 20 Question Id : 6154757073 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547527577, 1
61547527578 2
615475275793 2
61547527580 4

Question Number : 21 Question Id : 6154757074 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following is NOT related to qualitative research?

(1) Thematic analysis (2) Case study
(3) Discourse analysis (4) Survey method
Options:

61547527581, 1
61547527582, 2
E1547527583. 3
B1547527584. 4

Question Number : 21 Question Id : 6154757074 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  T=uTeq: fowergo (2) =AML T3

B

(3)  IfEq favemm (4) T &ty

Options:
61547527581, 1
61547527582 2

61547527583, 3



B1547527584. 4

Question Number : 22 Question Id : 6154757075 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In Social Sciences, a central issue is the question of whether the social world can be studied
using the methods of natural sciences. This statement refers to the issue of :

(1) Ontology (2) Axiology
(3) Epistemology (4) Etymology
Options:

61547527585, 1
61547527586, 2
E1547527587. 3
E1547527588. 4

Question Number : 22 Question Id : 6154757075 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547527585, 1
B1547527586. 2
E1547527587. 3
61547527588, 4

Question Number : 23 Question Id : 6154757076 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following i1s not the outcome of grounded theory research?

(1) Concepts (2) Narrative
(3) Categories (4) Hypotheses
Options:

61547527589, 1
E15475275380. 2
BE15475275391. 3
B1547527582. 4

Question Number : 23 Question Id : 6154757076 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
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615475275859, 1
61547527530, 2
61547527531, 3
E15475275392. 4
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Question Number : 24 Question Id : 6154757077 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the factors that do not contribute to the effectiveness of teaching from the options

given below :

(a)
(b)
(c)
(d)

Socio — economic background of Teacher
Teacher’s skill in pleasing the students
Teacher’s subject knowledge

Teacher’s personal contact with students

Choose the correct option :

(D)
(2)
(3)
(4)

Options:

(a), (c) and (d)
(b), (¢) and (d)
(a), (b) and (c)

). (b) and (d)

(a

6154752755931
61547527594, 2
61547527535 3
E15475275396. 4

Question Number : 24 Question Id : 6154757077 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a)  Toremsh =i AT -3YF TBYH
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(1)  (a), (c) R (d) 2) (b), (c) AR (d)
(3)  (a), (b) 3 (c) (4) (a), (b) 3R (d)
Options:

E1547527593. 1
E15475275384. 2
B15475275385. 3
B15475275596. 4

Question Number : 25 Question Id : 6154757078 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Select the alternative features from the following, which make open universities as

non-traditional universities :

(a) Innovative method of teaching and learning
(b) Innovative method of admission, curriculum and evaluation
(c) Modern communication techniques

(d) Teacher’s friendly approaches

Select the correct option :

(1) (b), (c) and (d) only
(2)  (a), (b) and (c) only
(3)  (a), (c) and (d) only
4)  (a), (b) and (d) only

Options:
61547527597, 1



B15475275398. 2
615475275595, 3
61547527800, 4

Question Number : 25 Question Id : 6154757078 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(a)  Toreqor 3R MM % TSR GEF

(b)  TE, TETFH HAR GeATHA * AATER] TIh
(c) S HUUT THATH
(d)  Toerri =1 fomEd =g9En

[ G

TE faehed g

(1) =@ (b), (c) 3W (d) (2) A (a), (b) 3R (c)
(3) A (a), (c) R (d) (4) =EA (a), (b) IR (d)
Options:

BE1547527587. 1
B15475275398. 2
B1547527599. 3
61547527800, 4

Question Number : 26 Question Id : 6154757079 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Regarding E-governance. which of the following statements 1s / are correct?

(a) Decreasing transparency 1s an ICT enabled advantage of E-Governance.

(h) E-governance 1= related to the implementation of ICT 1n the government processes and
functions.

(c) Common Service Centres (CSCs) help 1n providing and using E-Governance related
services.

Choose the correct option :

(1) (a). (b). and (c)
(2) (b) and (c) only
(3) (a) and (c) only

(4) (a) and (b) only
Options:
61547527601,
E1547527E0Z.
B1547527603.
61547527604

[ N

Question Number : 26 Question Id : 6154757079 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(a)  BEHEM THEREl 3-3ME9 o1 U 3 |1 I JH1Ud oY 2

(b)  E-TIMEA F HEY HLEE UHAIST AT FE G AR | S F TR ¥ HEeg 7

(c)  TTHEF TaT Feg (Ht vF H) $-3meR Hafag Faied i Iuered w1 396 TE0 § GEEE E

TE! faeeT g

(1)  (a), (b) 3R (c) (2) Faa (b) K (c)
(3)  FaH (a) HN (c) (4) FAA (a) AR (b)
Options:

61547527601, 1
E154752760Z2. 2



E1547527603. 3
B1547527804. 4

Question Number : 27 Question Id : 6154757080 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following statements 1s / are correct?

(a) Software 13 loaded into secondary storage from RAM and 1s then executed hy
the CPU.
(b) A search engine 1= a software svstem that 1s designed to search for information on

the www.

Choose the correct option :

(1) (a) only
(2) (b) only
(3) Both (a) and (b)

(4) Neither (a) nor (b)
Options:
615475276051
61547527606, 2
61547527607, 3
61547527608, 4

Question Number : 27 Question Id : 6154757080 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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TE faehen gHw -
(1)  Fa4 (a) (2) FF4 (b)
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Options:

61547527605, 1
1547527606 2
E1547527607. 2
61547527608, 4

Question Number : 28 Question Id : 6154757081 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Given below is a question followed by three statements. Identify the statements that are

necessary to answer the question.

Question : What is the percentage profit gained by a vendor when he sells an article?

Statements :
(a) He gives a 10% discount on the marked price.
(b) He would have earned 25% profit if he did not give any discount.

(c) The cost price of the article 15 Rs.8000.

Choose the correct option from those given below :

(1) (a) and (b) only
(2) (b) and (c) only
(3) (a) and (c) only

(4) (a), (b) and (c¢)
Options:
61547527609, 1
61547527610 2
61547527611, 2
1547527612 4

Question Number : 28 Question Id : 6154757081 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(b)  AfE =& IS T TE <1 A1 9 25% W Bl |

(c) FEq 1 @G HoF 8000 T F |

= T ™ e ® 9w foen g

(1) =3 (a) R (b) (2) #aa (b) 3 (c)
(3) A (a) W (c) 4) (a), (b) I (c)
Options:

61547527609, 1
E1547527610. 2
61547527611, 3
BE1547527612. 4

Question Number : 29 Question Id : 6154757082 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following statements are true about a fuel cell?

(a) It 1s a device that uses electrochemical reactions to produce electric current
(b) It consists of a positive electrode and a negative electrode separated by an electrolyte
(c) Just like batteries 1t needs to be recharged with an electric current

Choose the correct option from those given below :

(1) (a) and (b) only
(2)  (b) and (c) only
(3) (a) and (c) only

(4) (a), (b) and (c)

Options:
15475276131
61547527614 2



E1547527615. 3
B1547527616. 4

Question Number : 29 Question Id : 6154757082 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Fr o2 T oo 9 ° wE fawew F1 9 i
(1) e (a) 3 (b)
(2) et (b) FH7 (c)
(3)  =ad (a) 3 (c)

4)  (a). (b) I (c)
Options:
615475276131
61547527614 2
61547527615 =
61547527616, 4

Question Number : 30 Question Id : 6154757083 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Consider the following statements with reference to the proposition "Some girls are not
students”

(a) Subject term students 1z distributed

(b) Predicate term girls 1s undistributed

(c) Predicate term students 1z distributed

(d) Subject term girls 1s undistributed

Choose the correct option from those given below:

(1) Only (a) and (c) are correct
(2) Only (b) and (c) are correct
(3) Only (a) and (d) are correct

(4) Only (c) and (d) are correct
Options:
615475276171
1547527 e18. 2
E1547527619 2
61547527620 4

Question Number : 30 Question Id : 6154757083 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(a) T e Toanedf faafa 21

(b) o= vee wefFra faafa 98 & |
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(3) A (a) 3R (d) 7@l 7 (4) FEHA (c) AW (d) TET B
Options:

B1547527617. 1
B1547527618. 2
G1547527619. 3
E1547527620. 4

Question Number : 31 Question Id : 6154757084 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Choose two factors that do NOT affect the academic performance of students adversely :

(a) Low zelf — efficacy belief
(b) Belief in God
(c) Indifferent attitude towards politics

(d) Teacher's low expectation from students

Choose the correct option :

(1) (a) and (b) only
(2) (b) and (c) only
(3) (c) and (d) only

(4) (b) and (d) only

Options:

61547527621, 1
61547527622 2
E1S547527622. 2
E1547527624 4

Question Number : 31 Question Id : 6154757084 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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A [FHeT 6 TEaH -

(1) %= (a) 31 (b)
(2)  “aw (b) #HE ()
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(4)  Fa= (b) HE (d)

Options:

61547527621, 1
E1547527822. 2
61547527622, 5
61547527624, 4

Question Number : 32 Question Id : 6154757085 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the two statements from the following statements are correct?

(a) Sampling — related error 1z subsumed under the category non-sampling error

(b} Sampling error doesn’t occur in multi-stage cluster samphng

(c) Inaccurate sampling frame and non-response are examples of sampling — related
e1Tor.

(d) There 1= an inverse relation between heterogeneity of population and samplhing error.

Choose the correct option :

(1) (a) and (c) only
(2) (a) and (d) only
(3) (b) and (d) only

(4) (b) and (c) only
Options:
E1547527625 1
G157 7REG, 2
B1547527E2Y. 3
E154752762E. 4

Question Number : 32 Question Id : 6154757085 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547527625, 1
1547527626 2
E1E547527827. 2
1547527628, 4

Question Number : 33 Question Id : 6154757086 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following historic places with their distingumishing discipline of learming

Last I List IT
Historic places Discipline
(a) Takshila (1) Astronomy
(b) Ujjain (1) Buddhism
() Sarnath (m) Art. Architecture and Painting
(d) Ajanta (1v) Medicine

Choose the correct option from those given below :

(1) (a)-(1). (b)-(11). (c)-(11). (d)-(1v)
(2) (a)-(11). (b)-(1). (e)-(1v). (d)-(111)
(3) (a)-(111). (b)-(1v). (e)-(11). (d)-(1)
(4) (a)-(1v). (b)-(1). (e)-(11). (d)-(111)

Options:

51547527629, 1

51547527630, 2

B1547527631. 3
E1547527632. 4

Question Number : 33 Question Id : 6154757086 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a) TR () e I
(b) I (i)  SgEH
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1 @-@), (b)-GD), (0)-Gid), (d)-(iv)
@ (@-GD), (b)-Q), (0-Gv), (d)-{i)
(3 (@-@), (b)-Gv), (¢)-(1), (d)-@
@ @-w), (b)-G), (e)-(1), (d)-(iiD)

Options:

61547527629, 1
E1547527820. 2
61547527621, 5
61547527632 4

Question Number : 34 Question Id : 6154757087 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following soil orders with their descriptions

(a) Histosols (1)
(b) Andisols (1)
(c) Gelisols (111)
(d) Aridsols (1v)

Choose the correct option from those given below :

—

) (a)-(1v), (b)-Q), (c)-(11), (d)-(111)
2) (a)-(11), (b)-(iv), (¢)-(1), (d)-(111)
3) (a)-(@), (b)-(11), (c)-(111), (d)-(v)
(4) (a)-(1), (b)-(11), (c)-(1v), (d)-(i11)

Options:

61547527633, 1
61547527634 2
61547527635 2
1547527636 4

(

_—

Soil order that includes soils formed on
volcanic ash

Soil order of cold regions including
soils underlain by permafrost

Soil order consisting of soils of dry
climates

Soil order consisting of soils with a
thick upper layer of organic matter.

Question Number : 34 Question Id : 6154757087 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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(L) (a)-(v), (b)-(1), (¢)-(11), (d)-(111)
(2) (a)-(11), (b)-(1v), (c)-(1), (d)-(111)
(3) (a)-(1), (b)-(i1), (c)-(ii1), (d)-(iv)
(4) (a)-(1), (b)-(i1), (¢)-(iv), (d)-(111)

Options:

61547527633, 1

61547527634 2

61547527635 2

1547527636 4

@
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Question Number : 35 Question Id : 6154757088 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Match List — I with List - IT

List I
(Digital Initative)
(a) UMANG
(by BHIM
(c) eBiz
(d) SWAYAM

Choose the correct option :

(1) (a)-(i1), (b)-(1), (c)-(111), (d)-(av)
(2) (a)-(111), (b)-(11), (¢)-(iv), (d)-@)
(3) (a)-(v), (b)-(ii), (¢)-(1), (d)-(i1)
4) (a)-(1), (b)-(v), (c)-(11), (d)-(111)

@)
(i1)
(111)

(iv)

List II
(Purpose)
G2B Services
Learning platform
Unified payment interface

Single point of access to all

governme nt services.



Options:

61547527637, 1
1547527638 2
E1547527829. 2
61547527640, 4

Question Number : 35 Question Id : 6154757088 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FA1 G TF B A1 51 H GAT I

T - T T - 3
(fefsest 7em) (TSI )
(a) 3HA G) S 2 & FET
(b) M (i) AT TeeEH
(© T (iii) FHEEET THS T
(d) =8 (iv) T FEE A AW w9 6 o e

(1) (a)-(i1), (b)-(1), (¢)-(ii1), (d)-(1v)
(2) (a)-(iii), (b)-(ii), (¢)-(iv), (d)-G)
(3) (a)-(iv), (b)-(i11), (¢)-(1), (d)-(11)
(4) (a)-(1), (b)-(iv), (¢)-(11), (d)-(111)

Options:

61547527637, 1

61547527638 2

E1547527639. 3
61547527640, 4

Question Number : 36 Question Id : 6154757089 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match correctly the items of Column I with the items of column II

Column I Column II
(a) Ontology (1) Ideographic
(b) Epistemology (i1) Realism
(¢) Methodolgy (111) Survey
(d) Method (1v) Positivism

Choose the correct option :

(1) (2)-(11), (b)-(iv), (c)-(11), (d)-@)
2) (2)-(11), (b)-(1), (c)-(111), (d)-(1v)
(3) (a)-(w), (b)-(1), (c)-(1), (d)-(111)
4) (a)-(11), (b)-(1v), (¢)-(@), (d)-(111)

Options:
615475276411

E1547527642. 2
B1547527643. 3
B1547527644. 4

Question Number : 36 Question Id : 6154757089 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FITH-TF Tl FHIAH-3 T AT hITIT -

Fiaq - T Fieq - 2
(a) EETHETE (i) et
(b)  SHHEET (i) FEAEFEAER
(c) Tomelt fafer (iii) FEET
(d) T (iv) HHNICHFAER

&l fashoT T

(1) (a)-(i1), (b)-(iv), (¢)-(ii1), (d)-(1)
(2) (a)-(11), (b)-(1), (c)-(111), (d)-(iv)
(3) (a)-(1v), (b)-(11), (¢)-(), (d)-(iii)
(4) (a)-(11), (b)-(iv), (¢)-(1), (d)-(i11)
Options:

B1547527641. 1
B1547527642 2



E1547527643. 3
B1547527644. 4

Question Number : 37 Question Id : 6154757090 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Select the advantage of feedback 1n the process of communication. from the following :

(1) It 1s beneficial in understanding of the subject matter
(2) It diagnoses the defects in receiver
(3) It clarifies the communication
(4) It explores the defects in receiver
Options:

61547527645 1
61547527646, 2
E154752764d7. 3
E1547527648. 4

Question Number : 37 Question Id : 6154757090 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547527645 1
E154752764E. 2
E1547527647. 3
E1547527648. 4

Question Number : 38 Question Id : 6154757091 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following values with their distinguishing functions :

List I List IT
(a) Sacrifice (1 Working in a stipulated time
(b)  Sincerity (11) Confinement of individual mind on
action
(c) Self control (1) Showing love and affection
(d) Altruism (iv) Helping without selfish motives

Choose the correct option from those given below :

(1) (a)-(1), (b)-(), (¢)-(iv), (d)-(111)
(2) (a)-(1v), (b)-(1), (e)-(i1), (d)-(111)

(3) )-(111), (b)-(1v), (c)-(1). (d)-(11)
4) (a)-(1), (b)-(111), (c)-(11), (d)-(1v)
Options:

B1547527645. 1
B1547527650. 2
615475276851, 3
E154752765%2. 4

Question Number : 38 Question Id : 6154757091 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fr=fertaa ge=1 =1 379 fafe =i = @y gafaq Fifo
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1 (2)-G), (b)-(). (c)-(v), (d)-(ii1)
(2) (a)-(iv), (b)-(1), (e)-(i1), (d)-(ii1)
(3) (a)-(iii), (b)-(iv), (¢)-(1), (d)-(i1)
(4) (a)-(1), (b)-(Gid), (¢)-(11), (d)-Av)

Options:

61547527649, 1
61547527650 2
61547527651 2
E1547527852 4

Question Number : 39 Question Id : 6154757092 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Select the option that lists components for a cyberspace address (URL) in the correct order
from beginning to end?

(1) Protocol, domain name of the host, path / file
(2) Path / file, protocol, domain name of the host
(3) Protocol, path /file, domain name of the host
(4) Domain name of the host, protocol, path / file

Options:

1547527 E53 1

1547527654 2

61547527655 2

61547527656 4

Question Number : 39 Question Id : 6154757092 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(3) TR, MY /HEA, BES F TEA 1 A
(4) B T THA T A, WIS, TS/ EEA

Options:

61547527653, 1
61547527654 2
61547527655 2
E1547527656. 4

Question Number : 40 Question Id : 6154757093 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following sequence represents the correct order of soil particles arranged in
terms of particle size from the smallest to the largest?

(1) Gravel, Silt, Clay, Sand (2) Silt, Clay, Gravel, Sand
(3) Clay, Silt, Sand, Gravel (4) Silt, Clay, Sand, Gravel
Options:

E1547527EEY.
E1547527E5E.

E1547527659,
B1547527860,

[ N S

Question Number : 40 Question Id : 6154757093 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FHEfTRad & 8 % 91 AGHA B ATHR U 52 ATHR & 00 & Hal T & K7 F T8l w187
(L s, e, FeEl, SR

[ = ™

(2) e, L, ET STe]

(3 e, T, 9w, w9

(4) T, e, sTe], S,

Options:

61547527657,
61547527658,
£1547527659.
E15475276E60,

[ N

Question Number : 41 Question Id : 6154757094 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the steps of research in the sequence in which they are presented in the thesis

(1) Discussion, Review of Literature, Results, Conceptual Framework, Problem

(2) Review of Literature, Problem, Conceptual Framework, Result, Discussion

(3) Problem, Review of Literature, Conceptual Framework, Results, Discussion

(4) Problem, Review of Literature, Conceptual Framework, Results, Discussion
Options:

E15475276E1. 1
B1547527662. 2
B1547527BE3. 3
G1547527664. 4

Question Number : 41 Question Id : 6154757094 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

IMI-FTHT 1 MG-Te=4 § T&qq Fd T 69 T T a1 S 2 ¢

(1)  Oi==l, |rfecd =hi TEieT, TRoTE, TFEWo =1, TEE
(2)  TECT <hi THIETT, TS, FAFENON 1, TR, it
(3)  THEHI, |ifecd hi FHIeT, SFUWON @M=, T
(4)  THE, GTEcd i T, FFERON =, T

Options:

1547527661, 1
E1547527EE2. 2
1547527662, o
61547527664, 4

Question Number : 42 Question Id : 6154757095 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements - one 1s labeled as Assertion (A) and the other is labeled as

Reason (R):

Assertion (A) :  Through on-line teaching a large number of students can be taught by very

competent faculty.

Reason (R) : On-line teaching helps students in developing critical thinking more than

the Off —line teaching can do.

In the light of the above two statements choose the correct option :

(1)
(2)
(3)
(4)

Options:

Both (A) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) are true and (R) is not the correct explanation of (A)
(A) 1s true, but (R) 1s false

(A) 1s false, but (R) 1s true

B1547527665. 1
G1547527E6E. 2
E1547527667. 3
E1547527EEE. 4

Question Number : 42 Question Id : 6154757095 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(3) (A =E g g (R) To@ 2 |

(4 (AT B fRg (R) ®RT 2
Options:

61547527665, 1

61547527666 2

1547527667, 2

61547527668, 4

Question Number : 43 Question Id : 6154757096 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements - one is labeled as Assertion (A) and the other 1s labeled as

Reason (R):
Assertion (A) : A blog is a form of social media.
Reason (R) : A blog allows anyone to communicate to a public audience.

In the light of the above two statements, choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are ture and (R) 1s not the correct explanation of (A)
(3) (A) 1s true, but (R) is false

4) (A) 1s false, but (R) 1s true



Options:

61547527669, 1
1547527670 2
E1547527671. 2
1547527672, 4

Question Number : 43 Question Id : 6154757096 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A= 21 99 U MU B- TEen AT (A) R IR ER TF (R) ®

ATFIT (A) - SATT HI9TT HITSAT 1 Th &9 7 |
T+ R) : AT % HIETH H F3 =A(Fd AH a1 F S FL TR 2 |

3TIFd 31 FHYHl o ATA H Tal [SeheT 1 799 F

() (A) &R (R) A H& 8 30 (R) (A) i Ha1 =ame 2 |
(2)  (A)#E (R) 3H Hal & 3R (R) (A) =l Hal =741 78 7 |

(3) (A @@l & Frd (R) 7o 2 |

(4) (A) Td & TRg (R) 9= 2 |

Options:

61547527669, 1
61547527670 2
61547527671, 2
1547527672, 4

Question Number : 44 Question Id : 6154757097 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements - one is labeled as Assertion (A) and the other is labeled as

Reason (R):

Assertion (A) :  Skill development is a key feature in every individual’s life.
Reason (R) : An individual who wants to get employed, needs to possess good education
only.

In the context of above two statements, choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) 1s true, but (R) 1s false

(4) (A) 1s false, but (R) is true
Options:
15475276731
E1547E27e74d. 2
El54d7E27EYE 2
1547527676 4

Question Number : 44 Question Id : 6154757097 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
J19 31 Y 12U 0 B- UF W ATHFGT (A) IR R F aF (R) T T

SRS (A) oIS B o A9 H HIVE S UF GHE AT E |

% R) : TSR T 50 =i T=01 9Tt =afaa 1 Fae oTest e Y sTavawar 2t 2
3ITgFd 2E1 FYAl o Fg4 H, Tl T HT

(1)  (A) 3| (R) 3H 5@l & 31 (A) =1 =& =& (R) & 17

(2)  (A) #R (R) THI H&l & T, (A) =l Hel =me (R) T8 2 |

(3) (A) T8 8, 7 (R) e 2 |

4) (AT z, g (R) TR 2

Options:
B1547527EY3 1

B1547527674. 2



B1547527675. 3
B154752767E. 4

Question Number : 45 Question Id : 6154757098 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Given below are two statements - one is labeled as Assertion (A) and the other is labeled as

Reason (R):

Assertion (A) :  Government of India established higher educational statutory bodies to

ensure quality of education.

Reason (R) : There are some educational institutions in India which do not provide

quality education.

In the context of above two statements, choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) 1s true, but (R) 1s false

(4) (A) 1s false, but (R) 1s true
Options:

1547527677 1

1547527 e7E. 2

SN W St M

61547527680 4

Question Number : 45 Question Id : 6154757098 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(3)  (A)=El E W, (R)Tod # |

4) (AT B WG, (R) TR R
Options:
61547527677, 1
61547527678 2
1547527679 2
E1547527820. 4

Sub-Section Number: 3
Sub-Section 1d: 615475316
Question Shuffling Allowed : Yes

Question Id : 6154757099 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuesticon Label | Comprehension



Read the following passage and answer questions which follow.

Eventhough globalisation is one of the most discussed topics in the contemporary world. it 1s
not altogether a well defined concept. A multitude of global interactions are put under the
broad heading of globalisation. varving from the expansion of cultural and scientific
influences across borders to the enlargement of economic and business relations throughout
the world. A wholesale rejection of globalisation would not only go against global business, 1t
would also cut out movements of 1deas. understanding. and knowledge that can help all the
people of the world. including the most disadvantaged members of the world population. A
comprehensive rejection of globalisation can thus be powerfully counterproductive. There 15 a
strong need to separate out the different guestions that appear merged together in the
rhetoric of the antiglobalisation protests. The globahsation of knowledge deserves a
particularly high profile recognition. despite all the good things that can be rightly said
about the importance of "Local knowledge”.

Globalisation 1s often seen. both 1n journalistic discussions and in remarkably many
academic writings. as a process of westernization. Indeed. =ome who take an upbeat niew of
the phenomenon even sees 1t as a contribution of Western civilization to the world.

Sub questions

Question Number : 46 Question Id : 6154757100 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to the passage, which one of the following is not a well defined concept?
(1) Multiculturalism

(2) Identity

(3) Globalisation

(4) Local Knowledge

Options:

61547527651, 1
1547527682, 2
61547527682, o
61547527654, 4

Question Number : 47 Question Id : 6154757101 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

According to the passage, which one of the following is counter productive?
(1) Comprehensive support to globalisation

(2) Wholesale rejection of globalisation

(3) Comprehensive rejection of anti — globalisation protests

(4) Recognition of local knowledge systems

Options:



BE1547527685. 1
B1547527886. 2
B1547527887. 3
E1547527688. 4

Question Number : 48 Question Id : 6154757102 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
According to the passage, globalisation i1s perceived often by media and academia as :

(1) Supporting local knowledge systems
(2) Detrimental to local knowledge systems
(3) A process of Westernisation

(4) A process of facilitating global bussiness
Options:
E15475276089 1
61547527650 2
615475276391 2
61547527632 4

Question Number : 49 Question Id : 6154757103 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The attempt of the author in the passage is :

(1) Unconditioned advocacy of globalisation

(2) Unconditioned rejection of globalisation

(3) Unconditioned rejection of local knowledge systems
(4) Unbiased evaluation of globalisation

Options:

615475276393 1
E1547527634. 2
61547527635, 3
E1547527636. 4

Question Number : 50 Question Id : 6154757104 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



As per the passage, a wholesale rejection of globalisation would result in affecting

(a) Global businesses
(b) Movement of Ideas

(c) Local knowledge systems

Choose the correct answer from the options given below :

(1)  (a) and (b) only
(2)  (a) and (c) only
(3) () and (b) only
(4) (a), (b) and (c)

Options:

61547527697, 1
61547527698, 2
61547527699 2
1547527700, 4

Question Id : 6154757099 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuestion Label © Comprehension
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Sub questions

Question Number : 46 Question Id : 6154757100 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(1)  wg-H&Fiaar (2) TEEH
(3)  STEE (4) TIEE A

Options:

1547527681, 1
E1547527882. 2
61547527682, o
61547527684, 4

Question Number : 47 Question Id : 6154757101 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TEE F AN AElAlEd J | wE w2

(3)  dvdrmo-Tandi ugeiE f = AEHG (4)  THE T Ggiedl S e
Options:

E1547527E85. 1

1547527606, 2

61547527687, 2

61547527680 4

Question Number : 48 Question Id : 6154757102 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TEITST % STIAR ITAH i HITSaT ST SThRgah! 30 | &9 | <@ Sl 87

(1)  FYEE 4 TgM =1 F9949 (2) TYHE FH TG * [ BTHEHES
(3)  TTTETSER T U WiE (4) Tava =mm F:1 g8 999 F TF 9hE
Options:

B1547527689. 1
615475276830, 2
61547527631, 3
E154752763%2. 4

Question Number : 49 Question Id : 6154757103 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
I i - ™ k. [ ™ g i 5 ™ %__
TE § SEE A HEEngd 5 " R W A A R Y

(1)  Svirror =1 7 710 ST (2) v 1 o 91 ST

(3) T TE o i A 9 SR AT (4) Sy B s e gedie e |



Options:

61547527693, 1
61547527694 2
E1547527695 2
1547527696, 4

Question Number : 50 Question Id : 6154757104 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TR o STAR Ava0] Tova =1 7 T80 W SRR ] Hefarad 8 J Fhdeh! T9Tiea Ham ¢

(a)  JTas =R
(b)y  To=m =+ w=E

(c)  TUWE I IgMd

I fog ™ oo ¥ 1 9E ST R =9 i

(1)  =Fad (a) 3T (b)

=,

(2) a9 (a) R (c)
(3) T (c) FAR (b)

4  (a), (b) I ()
Options:
C1547E27Fe97. 1
E1E4FEZFEQE. 2
C1547527E299. 2
1547527700, 4

PART 11 Philosophy

Section Id : 61547596
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 92
Number of Questionsto be attempted: 92
Section Marks: 200
Display Number Pane: Yes
Group All Questions: No
Sub-Section Number: 1

Sub-Section Id: 615475317



Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 6154757105 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In vedic tradition Brahma would be the Rtvika of

(1) Rtvika only (2) Samaveda only
(3) Yajurveda only (4) Rk, Sama and Yajurveda
Options:

615475277011
E1547527702. 2
61547527703, 3
E1547527704. 4

Question Number : 51 Question Id : 6154757105 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
AfeF WO U g=m T wias BT

(1) Tl TS F (2)  Hde] TS
(3)  haod Tddg F (4) &, H AN Tgdg F
Options:

BE1547527701.1
B1547527702. 2
B1547527703. 3
B1547527704. 4

Question Number : 52 Question Id : 6154757106 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
In Jaina epistemology the knowledge of past. subtle and distant objects 1s called :

(1) Mati (2) Manahparyaya
(3) Avadhi (4) Kevala
Options:

615475277051
E1547527706. 2
E1547527707. 3
E1547527708. 4

Question Number : 52 Question Id : 6154757106 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
o T A ° 9, gen o1 g9 g # 9E # FEa 27

(1) H4 (2) TH-9EE
(3) iy (4)  <he



Options:

61547527705, 1
1547527706 2
E1547527707. 2
1547527708, 4

Question Number : 53 Question Id : 6154757107 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Anumana according to the Carvaka CANNOT be a pramana because :

(1) Anumadana 1z alwavs incorrect (2) Anumdna 1= sometlmes Incorrect
(3) Anumana 18 dependent on pratvaksa (4) Vwvapti cannot be established
Options:

615475277051
B1547527710. 2
E1547527711. 3
E154752771Z2. 4

Question Number : 53 Question Id : 6154757107 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1)  349H H2d 315 71 2 (2) AW Ffi-Fd 3EE a2
(3) TAE TeAE WA 2 (4) =T TOA 21 61 = W1
Options:

6154752770591
E1547527710. 2
B1547527711. 3
B1547527712. 4

Question Number : 54 Question Id : 6154757108 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Select the correct sequence:

(1) Trsna . upadana. bhava, jati (2) Trsna.jati, upddana. bhava
(3) Upadana. jati. bhava. trsna (4) Trsna . upadana. jati. bhava
Options:

615475277131
E1547527714. 2
61547527715 3
B1547527716. 4

Question Number : 54 Question Id : 6154757108 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TE ALHA =T I

(1)  gom, 39IEH, 94, Sid (2) O, A1, 391EH, 99
(3)  3IUEH, |1, Wb, g (4) T, INEH, T, 99
Options:

615475277131
61547527714, 2
E1547527715. 3
B1547527716. 4

Question Number : 55 Question Id : 6154757109 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who holds that colour and the knowledge of 1t are the same thing?

(1) Vasubandhu (2) Nagarjuna
(3) Kumarila (4) Prasastapada
Options:

E1547527717. 1
61547527718 2
E1547527718. 3
B1547527720. 4

Question Number : 55 Question Id : 6154757109 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T2 T 09 2 T 7 31 == 379 U a9 OuE 27

(1)  =9ag (2) AW
(3)  FHHIA (4) TERATTE
Options:

B1547527717. 1
B1547527718. 2
B1547527715. 3
G1547527720. 4

Question Number : 56 Question Id : 6154757110 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are the four hists of sense organs. Select the option that states the sense organs
by all of which we can perceive substances in Nyvava epistemology.

(1) Visual sense organ and auditory sense organ
(2) Auditory and tactual sense organ
(3) Visual. auditory and olfactory

(4) Visual. tactual and internal sense-organs



Options:

615475277211
E1547527722. 2
E1547527722. 2
1547527724, 4

Question Number : 56 Question Id : 6154757110 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fra = izl g A ) = s fiaen % agEn T s g g0 g g 2

(1)  =nenfza #v gEui=zg (2)  gauif=7 3 oEit=g
(3)  =nEufey i A= (4) TANTSA, TS AT ATARE THSE
Options:

E1547527721. 1
Bl547527 722, 2
B1547527723. 3
B1547527724. 4

Question Number : 57 Question Id : 6154757111 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In Nvava epistemology. we percelve a snake in place of a rope by :

(1) Sam yoga sannikarsa (2) Samanya laksana sannikarsa
(3) Jrnanalaksana sannikarsa (4) Yogaja sannikarsa
Options:

B1547527725.1
B1547527 726 2
G1547527727. 3
E1547527728. 4

Question Number : 57 Question Id : 6154757111 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

=TT -G 4 20 e g Wt 1 o o 27

(1)  =Em A+ (2) TS Ty
(3)  FAEN A~ (4) =TS AfFS
Options:

615475277251
G1547527726. 2
G1547527727. 3
B1547527728. 4



Question Number : 58 Question Id : 6154757112 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In Nvava epistemology which one among the following can be the objects of samdanyalaksana

pratvaksa only?

(1) A particular case of smoke (2) Smokeness
(3) Some cases of smoke (4) All cases of amoke
Options:

B15475277259. 1
E1547527730. 2
61547527731, 3
B1547527732. 4

Question Number : 58 Question Id : 6154757112 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
= FAHEE § HEARgd § # ®H 31 Fdd A A8 Soe F 99 @ Tha1 2 7

(1) 99 i fawm feafq (2) gHA
(3) oF W %o frafar (4) g5 1 g i
Options:

B1547527729.1
B1547527730. 2
B1547527731. 3
E1547527732. 4

Question Number : 59 Question Id : 6154757113 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one among the following 1s NOT a mark of sathefu in Nvaya epistemology?

(1) Paksasattva (2)  Vipaksasattva
(3) Sapak sasattva (4) Abdadhita Visayatva
Options:

615475277321
E1547527734. 2
B1547527735. 3
B1547527736. 4

Question Number : 59 Question Id : 6154757113 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



=g FHUMHE] § Odad F1 FEEngd 3 9 wE-01 S49 T8 87

(1) O (2) Ta9aT—=
(3) TUE (4) =T T
Options:

615475277331
61547527734 2
E1547527735. 3
B1547527736. 4

Question Number : 60 Question Id : 6154757114 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are some states of affairs. Which one indicates the state of affairs where anumiti
15 not possible according to Nyaya epislomology?

(1) The absence of the will to infer accompanied by the absence of siddhi

(2) The absence of the will to infer accompanied by the presence of siddhi

(3) The presence of the will to infer accompanied by the absence of siddhi

(4) The presence of the will to infer accompanied by the presence of siddhi
Options:

B1547527737. 1
B1547527738. 2
B1547527739. 3
B1547527740. 4

Question Number : 60 Question Id : 6154757114 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
= Fo T 4 TE 3| = EHEE F SEOE 36 WA =Hed 94 9 36 FEead F 3
AT B FE M " TE 2

(1)  =HAF = H Fi 3=a1 Fi safeia + @ fatg $i saefeafa)
(2)  SEF wFTH Il T8 1 SR @Y g S|
(3)  H9H @TH i T=u1 i UM F WA g F S|
(4)  FFEF TFH I Te81 i SUEAE ® = fEhg = Sreid |

Options:

61547527737, 1

51547527738, 2

E1547527739. 3
E1547527740. 4

Question Number : 61 Question Id : 6154757115 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Consider List — I and List — IL

List -1 List —II
(a) Akhyativada (1) Nagarjuna
(b)  Asatkhyativada (11 Vasubandhu
(¢) Atmakhyativada (1) Kumarila
(d) Viparitakhyativada (1v) Prabhakara

Select the correctly matched option.

(1) (a)-(1) (b)-(11)  (e)-(111)  (d)-(av)
(2) (a)-(1)  (b)-(1) (c)-(111)  (d)-(iv)
(3)  (a)-(v) (b))  (o)-G)  (d)-(1id)
(4) (a)-(1v)  (b)-(11)  (e)-(1) (d)-(111)

Options:

61547527741, 1
1547527742 2
61547527743 2
61547527744 4

Question Number : 61 Question Id : 6154757115 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

THl-T 3R GI-I1 T fa=am =

g1 =111
(a) FEATER @) AW
(b) AT (i) AgEd
(c) c ar (111) FHHTA
(d) TaHEEEaE (iv) T

(1) (a)-(1) (b)-(11)  (c)-(111)
(2) (a)-(11)  (b)-(D (e)-(112)
(3) (a)-ov)  (b)-(D) (¢)-(11)
(4) (a)-v)  (b)-(1)  (c)-(1)

(d)-(1v)
(d)-(1v)
(d)-(111)

(d)-(111)



Options:

61547527741, 1
61547527742 2
E1547527743. 2
1547527744, 4

Question Number : 62 Question Id : 6154757116 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Given below are an assertion (A) and a reaszon (R).

Assertion (A) : Duvyanuka must be eternal

Reasons (R) : Duyanuka 13 made of eternal atoms

Select the correct option.

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (4)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 18 true and (R) 1s false

i4d) (A) 1s false and (R) 1s true

Options:

61547527745, 1
61547527746 2
61547527747, 2
61547527748 4

Question Number : 62 Question Id : 6154757116 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Hr= il (A) 3 9% (R) 7o T E

(A) : 23S Mg 24 =]

(R) : A e wompal 4 [ 2|

(1) (A) 3T (R) 2HT T 2 3117 (R) (A) I T =aw= 2|
(2)  (A) 3 (R) ZE T 2 3 (R) (A) F o == 7= 2
(3)  (A) @ 2 3’ (R) T4 2

(4) (A) a9 2 3T (R) T& 2|

Options:

61547527745 1
61547527746, 2
61547527747 2
61547527748 4

Question Number : 63 Question Id : 6154757117 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Consider Set — I and Set — I1.

Set —1 Set — I1
(a) Pramanavyavastha (1) Mimamsa
(b)  Pramanasamplava (i) Carvaka
(c) Svatahpramanvavada (111) Bauddha
(dy Svabhavavada (1v) Nvayva

Select the correctly matched option:

(1) (a)-(1) (b)-(11)  (c)-(11)  (d)-(w)
(2) (a)-(11)  (b)-(v)  (c)-(1) (d)-(11)
(3) (a)-(111)  (b)-(11)  (c)-(xv)  (d)-(1)
(4) (a)-(n)  (b)-(m1) (c)-(w)  (d)-(a)
Options:

61547527749, 1

61547527750, 2

E1547527751. 3
B1547527752. 4

Question Number : 63 Question Id : 6154757117 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

o1 37 g1 W =

i1 I
(@) ST SAFE (i)  HmEmE
(b) HHTEEA (i) =IEF
(¢) TAdAHIIETS (iii) g
(d) FEHEER (v) =M
Tl TFea F1 =999 File

(1) (a)-(1) (b)-(11)  (c)-(111) (d)-Gv)
(2) (a)-(1)  (b)-v}  (e)-(1) (d)-(11)
(3) (a)-(11)  (b)-(1)  (e)-(1v)  (d)-(2)
(4) (a)-(11)  (b)-(u) (e)-av)  (d)-(2)

Options:
61547527749, 1



B1547527750. 2
B1547527751. 3
B1547527752. 4

Question Number : 64 Question Id : 6154757118 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Consider Set — I and Set — II

Set —1 Set — I1
(a) Dehatmavada (i)  Vaisesika
(b) Etmadehaparima_r_muﬁda (1) Jain
(c) Nairatmyavdada (1) Bauddha
(d) Nityva — atmavdda (iv) Carvaka

Select the correctly matched option

(1) (a)-(1) (b)-(11)  (e)-(111)  (d)-(av)
(2) (a)-(iv)  (b)-(11) ()-(m11)  (d)-(1)
(3) (a)-0v)  (b)-(1) (c)-{11) (d)-(111)
(4) (a)-(11)  (b)-(u1) (c)-(1v)  (d)-(1)

Options:
E1547527753 1

B1547527754. 2
B1547527755 3
B1547527756. 4

Question Number : 64 Question Id : 6154757118 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T AR FE-11 T f=m

11 ECiBil
(a) CETHATE S EllL B3
(b)  cHEZTN - (i) = 39
(c) AR (i) g TIA
(d) FeTEERE (iv) =E®

& e =1 =94 Hifa

(1) (a)-(1) (b)-(11)  (c)-(m1)  (d)-(1v)
(2) (a)-(v)  (b)-(11) (e)-(111)  (d)-(1)
(3) (a)-(1v)  (b)-(1) (c)-(i1)  (d)-(ii1)
(4) (a)-(1)  (b)-(u1) (ec)-(w)  (d)-(2)

Options:

615475277531
61547527754 2
E1547527755 2
1547527756, 4

Question Number : 65 Question Id : 6154757119 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are some characteristics of God in Vaisesika school.

(a) Samavayikarana of the world
(b) Nimittakarana of the world

{c) Paramdtman

(d) Nimittakarana of the Vedas

Select the option that includes the correct statement :

(1) (a). (b). (c¢) and (d)
(2) (h). (c) and (d) only
(3) (c) and (d) only

(4) {a) and (b) only

Options:
B15475277E7. 1

B1547527758. 2
B1547527755. 3
B1547527760. 4

Question Number : 65 Question Id : 6154757119 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



a1 9= 799 § Sy I F fawmand = 7 E

(a) AT =1 HHATIHAT
(b) M = HfgEErm

(d) CEHEEANE B EE

TE Fo a1l faskeq F1 =37 Fifau |
(1)  (a). (b). (c) HE (d)

(2)  Fad (b). (c) F (d)

(3)  ad (c) W (d)

(4) EEr (a) AR ib)
Options:
615475277571
61547527758 2
61547527759 3
61547527760, 4

Question Number : 66 Question Id : 6154757120 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“Sabda nitya Caksusatvat”. Which type of hetvabhdsa iz committed by the above inference :

(1) Sadharana Savyabhiéara (2) Viruddha
(3) Svartupasiddha (4) Satpratipaksa
Options:

B15475277EL. 1
B1547527762. 2
B1547527763. 3
B1547527764. 4

Question Number : 66 Question Id : 6154757120 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
“viez: e wemcad ITEd HEE § A0 gy 27

(1) HTEH0] TgT=T (2) Ta&z

- .

(3) HEATHG (4) HAHId9E



Options:

61547527761, 1
E15475277E2. 2
E15475277E2. 2
1547527764, 4

Question Number : 67 Question Id : 6154757121 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

By which sannikarsa according te Nvava do we percelve the relation between a cow and

cowness?
(1) Samavdya (2) Samayukta samavayva
(3) Samyoga (4) Visesanata

Options:

615475277651
61547527766, 2
B15475277EY. 3
E1547527760. 4

Question Number : 67 Question Id : 6154757121 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
=9 % FIHW FE A== 5 gr T 3 e o geed W IH Ea 27

(1) EREIR (2) THd TUEHE
(3) M (4) T
Options:

B1547527765. 1
B154752776E. 2
B15475277EY. 3
E1547527768. 4

Question Number : 68 Question Id : 6154757122 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The view that knowledge lights up the object of knowledge. the subject of knowledge and
knowledge 1tself 1s supported by the school of :

(1) Bhatta Mimam =a (Y Prabhakara Mimam =a
(3) Samkhya (4) Buddhism
Options:

B154752776%5. 1
G1547527770. 2
E1547527771. 3
B1547527772. 4



Question Number : 68 Question Id : 6154757122 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Tz T9=9n 7= FH, 79, T 310 D=9 J9 % THET #4912, FEifEFT § O o gy giaarieg 27

(1) 122 HHTET (2) QTR i
(3) T (4) #iZ =9
Options:

B154752776%5. 1
G1547527770. 2
E1547527771. 3
Bl547527772. 4

Question Number : 69 Question Id : 6154757123 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Arthapattiis an independent praman a according to :

(1) Ramanjuja (2) Samkara
(3) Madhva (4) Udayvana
Options:

B1547527773. 1
B1547527774. 2
E1547527775. 3
E154752777E. 4

Question Number : 69 Question Id : 6154757123 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ffafiad § I fFos sIHER 4R a7 g 27

(1)  TEa (2) T
(3 meA (42 e
Options:

B1547527773. 1
G1547527774. 2
G1547527775. 3
E154752777E. 4

Question Number : 70 Question Id : 6154757124 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which one among the following 1s not Citta Bhumi as per Yoga philosophy?

(1) Ksipta (2) Viksipta
(3) Niruddha (4) Raga
Options:

Bl1547527777. 1
B1547527778. 2
B1l5475277758. 3
G1547527780. 4

Question Number : 70 Question Id : 6154757124 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

AP 25H = FFER HEARET 0 8 FE 91 -9 98 87

(1) feea (2) Tataa
(3 =g (4) T
Options:

B1547527777. 1
Bl1547527778. 2
B15475277738. 3
B1547527780. 4

Question Number : 71 Question Id : 6154757125 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
According to Samkara which one of the following 1s unacceptable?

(1) The perceptual error 1= anirvacaniva

(2) Brahmana is ananta kalyana guna paripirna
(3) The means to Moksa 1= jiidna and jhiana alone
(4) The satta of Jagat 1s vyavahdarika

Options:

615475277811
G1547527782. 2
G1547527783. 3
61547527754, 4

Question Number : 71 Question Id : 6154757125 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



I % IHER, HEEiEd 3 3 #E o s 27
(1) T 90 SAHE=HE 2)
(2)  F@ SHA-FA - -0 2

(3)  HIE T O T 31 Fad 7 2

(4) G I G AEENF 2

Options:

61547527781, 1
615475277382 2
E15475277382. 2
15475277354, 4

Question Number : 72 Question Id : 6154757126 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Select the option having the correct sequence of Astanga — marga.

(1) Samyak drsti, Samyak samkalpa, Samyak vac, Samvyak karmanta

(2) Samyak drsti, Samyak vaé, Samyak Samkalpa, Samyak karmanta
(3) Samyak drsti, Samyak Samkalpa, Samyak karmanta, Samyak vae
(4) Samyak samkalpa, Samyak drsti, Samyak vac, Samyak karmanta

Options:

E1547527785. 1
E1547527 786, 2
B1547527787. 3
B1547527788. 4

Question Number : 72 Question Id : 6154757126 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) T g, 9% T%cd, T90F 99, 99% FA19

(3)  TTF 32, 4% T%ed, O0F FOd, TF a1

(4) oI Thed, T g2, TE0F 9%, TO0F FOid

Options:
61547527755, 1



B1547527786. 2
B1547527787. 3
B1547527788. 4

Question Number : 73 Question Id : 6154757127 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following 1s NOT acceptable to Arstotle?

(1) Every empirical object 1s a compound of Form and Matter
(2) Logic consists of syllogism

(3) The doctrine of a causation iz an illusion

(4) 01l 1s potentially present in the oil-zeed
Options:

615475277891
61547527730, 2
E1547527731. 3
B1547527 7392, 4

Question Number : 73 Question Id : 6154757127 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TEARgd 4 9 #H | 370 1 HHiHE T8 2 7

(1) TodF AIEE 9 AR 3R 57 F1 HE 2

(2) qehST =1 OoE- = a1 o 2

(3)  HEUET = fAgE U 99 2

(4) T, 9 S § BfEd =9 9 =A1 2

Options:

61547527789, 1
61547527730 2
61547527731, 2
E1547527732. 4

Question Number : 74 Question Id : 6154757128 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The doctrine of immortality of soul 1s upheld by which pair of the following :

(1) Plato and Gorgias (2) Plato and Socrates
(3) Plato and Protogoras (4) Plato and AlFarah
Options:

E1547527785 1



B15475277394. 2
B15475277385 3
B1547527 736, 4

Question Number : 74 Question Id : 6154757128 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
AT #1 AHAT 1 g FHEd § 1 e g g e

(1) 21 31 Aif=a9 (2) =T R gHd
(3) 2] AN R (4) A 3 ITEEE]
Options:

B15475277593. 1
B1547527754. 2
E1547527735 3
E1547527736. 4

Question Number : 75 Question Id : 6154757129 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following philosophical standpoints 1z acceptable to Plato?

(1) Ideas are 1llusory

(2) Ideas are perfect and eternal

(3) Ideas change from moment to moment
(4) Ideas are contingent

Options:

B1547527797. 1
B1547527738. 2
61547527799 3
E1547527800. 4

Question Number : 75 Question Id : 6154757129 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freferfigs § @ 1 T 2SI Fe W w1 e 37

(1) 929 9% &

(2) woE P vE e g

(3) 939 @ui-&0 qididd 2d &
(4) 90" HMIGE =9 B

Options:

61547527797, 1
61547527798 2
61547527799 2
E1547527800. 4



Question Number : 76 Question Id : 6154757130 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
“All knowledge 1s knowledge through concepts”. This 1s a contention of which of the
following philosophers?

(1) Anaximenes (2) Socrates
(3) Protogoras (4) Gorgias
Options:

61547527801, 1
61547527802, 2
E1547527803. 3
B1547527804. 4

Question Number : 76 Question Id : 6154757130 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
O T U % Wiegn 4 g 2 92 39 Heteigy St O O e w2 v

(1)  TAFAHEATA (2) HHEHE
(3)  WRrEE (4) ST
Options:

61547527801, 1
E154752780Z. 2
E1547527803. 3
B1547527804. 4

Question Number : 77 Question Id : 6154757131 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match the List — I with List —II.

List—I List — II
(a) Apeiron (1) Thales
(b) Water (11) Anaximander
(e) A (1m1) Democritus
(d) Atoms (1v) Anaximenes

Select the correct option from the options below :

(1) (a)-(1) (b)-(11)  (e)-(u1)  (d)-(v)
(2) (a)-(11)  (b)-(1) (e)-(v)  (d)-(111)
(3) (a)-(u1) (b)-av)  (c)-(1) (d)-(11)
(4) (a)-(iv)  (b)-(11) (e)-(1)  (d)-(1)

Options:

£1547527305. 1
E1547527806. 2
61547527807, 5
61547527808, 4

Question Number : 77 Question Id : 6154757131 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



TH1-1 = GeA-11 A1 gHiAd it

T=H1-1 11
(a) TUHRH (37H) i) 9™
(b) = (i) FHFAE
(© ad (i) SHIRZA
(d) AT (iv) TATATEHTS

(1) (a)-(1) (b)-(11) (e)-(111)  (d)-(1v)
(2) (a)-(11) (b)-(1) (c)-(1v) (d)-(111)
(3) (a)-(111)  (b)-0v)  (e)-(1) (d)-(11)

(4) (a)-(1v)  (b)-(111)  (c)-(11) (d)-(1)
Options:
61547527805, 1
61547527806, 2
61547527807, 2
61547527808, 4

Question Number : 78 Question Id : 6154757132 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which among the following 1s acceptable to The Sophists?

(1) Knowledge 1s objective (2) Truth is subjective
(3) The zood 1s objective (4) The beauty 1s in the ohject
Options:

61547527809, 1
E1547527810. 2
E1547527811. 3
B1547527812. 4

Question Number : 78 Question Id : 6154757132 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



(1) FH Fga= 2 (2) TcA AT 8
(3) WH TS T (4) HW=d g4 Az
Options:

B1547527809. 1
61547527810, 2
61547527811, 3
E154752781Z2. 4

Question Number : 79 Question Id : 6154757133 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“That 1s fundamental stuff. which through the process of rarefaction and condensation brings
into existence this universe”. whose philosophic conjecture 1s this?

(1) Socrates (2) Anaximenes
(3) Pyvthagoras (4) Anaxagoras
Options:

615475278131
E1547527814. 2
61547527815, 3
B1547527816. 4

Question Number : 79 Question Id : 6154757133 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘g Uit o ¢ oo mream O forefentor 3 gaea it 9hRaT & g 38 9T sAfedea ° 3T § 73R
HEIEER:CRET e i

(1) FFE (2) TATHEATS
(3)  TREYTE (4) TFHATRA
Options:

615475278131
E1547527814. 2
E1547527815. 3
B1547527816. 4

Question Number : 80 Question Id : 6154757134 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following 1s incompatible with Hegel?

(1) Hegel advocated absolute 1dealizm
(2) Hegel endorsed Kant's agnosticism
(3) Hegel adovated dialectical method
(4) Hegel synthesised the contradictory concepts of being and non - being

Options:

61547527817, 1
61547527818 2
61547527819 2
61547527820 4

Question Number : 80 Question Id : 6154757134 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Freaferf # % 7 71 E W S 27

(1) e 3 s goEanE i 99 Fi 2)

(2)  FATE A 2 % AEAIE hl g Al F
(3)  #Md 4 GEIAF Igid w1 OHA A 2

(4)  FT 3 O9 3R 39 F TOaE 99T #5199 a2
Options:
61547527817, 1
61547527818, 2
61547527819, 3
61547527520, 4

Question Number : 81 Question Id : 6154757135 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements — one 1s labeled as assertion (A) and the other as
reason (R).

Assertion (A) : God as world. for Spinoza. 1s Natura Naturata

Reaszsons (R) : God 1z Natura Naturans

Choose the correct option with reference to philosophy of Spinoza

(1) Both (A) and (R) are true and (R) 1= the correct explanation of (A)

(2) Both (A) and (R) are true and (R) 1z not the correct explanation of (4)
(3) (A) 1= true and (R) 1= falze

(4) (A) 1s false and (R) 1s true

Options:
61547527821, 1



B1547527822. 2
B1547527823. 3
61547527824, 4

Question Number : 81 Question Id : 6154757135 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
9 71 FoE 277 T 2| TEe AEEE (A) R T T4 (R).

AMTFAE (A) : o F a0 Svaw 9 F =9 ° J=90 90 2

@ (R) : YR S 490 2

TS % 2949 & T2d 0 T2 [9%=0 =1 =994 F1|

(1) (A #AR (R) 21 W& & 311 (R) (A) =l W&l =0 2|
(2) (A) 3 (R) 5H1 T & 31 (R) (A) =1 Tl =area 9@ 2|
(3) (A) TF 2 ¥R (R) #9T 2|

(4) (A) 9T 2 3R (R) HA 2|

Options:

61547527821, 1
B1547527822. 2
61547527822, 5
61547527824, 4

Question Number : 82 Question Id : 6154757136 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following 1s NOT a category of Understanding as per Kant?

(1) Unaty (2) Limitation
(3) Affirmation (4) Cause and Effect
Options:

B1547527825. 1
E1547527826. 2
B1547527827. 3
B1547527828. 4

Question Number : 82 Question Id : 6154757136 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ffafad § @ =1 @1 fa5e9 F F1= F 3480 qig Tt + arfiem 4 32 27
(1) UFd (2) HifHd
(3) =R (4) AW 3R FH

Options:



B1547527825. 1
B1547527826. 2
B1547527827. 3
61547527828, 4

Question Number : 83 Question Id : 6154757137 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Match List — I with List — II.

List — I
(a) Rejection of Metaphysics
(b)  Esse Est percipii
(c) Three Grades of Knowledge
(d} Problem of Freedom

Choose the correct option given below:

(1) (a)-(1) (b)-(u1)  (e)-(av)  (d)-(11)
(2) (a)-(1v)  (b)-(u1)  (e)-(1) (d)-(11)
(3) (a)-(v)  (b)-(111)  (c)-(11) (d)-(1)
(4) (a)-(11) (b)) (c)-(v)  (d)-(2)
Options:

6154752782591
61547527830, 2
61547527821, 3
61547527832, 4

(1)
(11)
(111)

(1v)

List — II
Leibnitz
Locke
Berkelev

Hume

Yes

Question Number : 83 Question Id : 6154757137 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0



TT-I %1 Ge1-11 F A1 GHled Fifau]

-1 =111
(a) T3 HHE] T (i) oA
(b) Tl T 2 (i) i
(¢) W I o= o (iii) #hed
(d) TEAAAT =i EE (iv) &9

(1) (a)-(1) (b)-(111)  (c)-(1v) (d)-(11)

(2) (a)-v)  (b)-(m1)  (c)-(1) (d)-(11)

(3) (a)-(1v)  (b)-(111) (c)-(n1) (d)-(1)

(4) (a)-(11) (b)-(111)  (e)-(1v)  (d)-(D)

Options:

E1547527829.
E1547527830.
BE1547527821.
B1547527832.

Question Number

[ N S

: 84 Question Id : 6154757138 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0



Match List — I with List — IL.

Last—1I List — II
(a) Determinatio Negatio Est (1) Leibnitz
(b) Law of Sufficient Reason (1) Spinoza
(c)  Subjective Idealizm (1) Kant
(d) Transcendental Illusion (1v) Berkeley

Choose the correct option given below.

(1) (a)-(1) (h)-(11) (e)-(1v)  (d)-(m1)
(2) (a)-(11) (b)-(1) (e)-(111)  (d)-(1v)
(3) (a)-(11) (b)-(1) (e)-(1v)  (d)-(111)

(4) (a)-(1) (b)-(11)  (¢)-(m1) (d)-(1v)
Options:

615475278331

61547527824 2

61547527825 2

615475278356, 4

Question Number : 84 Question Id : 6154757138 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

g=A-1 =1 gH1-11 % =19 gafaqd Fif=e|
-1 =110
(a) T UG = 1) EEEs
(b) AT HEI H HIH ) T
(c)  HTHTT UcaadTs (1) “FIIE
(d) wi=a 9\ (iv) &Fe

™ i N (o i [ 2.,
HHTEARET | 9 J81 TaHhed =/l =494 urrfﬂu"l'l.a T

(1) (a)-(1) (b)-(1)  (e)-(wv)  (d)-(m1)
(2) (a)-(11) (b)-(1) (c)-{m)  (d)-(av)
(3) (a)-(11) (bi-(1) (c)-(xv)  (d)-(m1)

(4) (a)-(1) (bi-(11) (c)-(1m)  (d)-(v)



Options:

61547527833, 1
615475278324 2
E1547527835 2
61547527826 4

Question Number : 85 Question Id : 6154757139 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements — one 1z labeled as assertion (A) and the other as Reason (R).

Assertion (A) : Hume 1s a sceptic

Reasons (R) : Law of causation 1s the backbone of Empiricism

Choose the correct option.

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1= not the correct explanation of (A)
(3) (A) 1s true and (R) 1s false

(4) (A) 15 false and (R) 1s true

Options:

61547527837, 1
61547527838 2
61547527839 2
61547527540 4

Question Number : 85 Question Id : 6154757139 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



J 31 %A 67 T 2| UH 1 AEAA (A) I F 9 (R) Fal ™ 2

AR (A) :  TH HIEETE 2|

% (R) : FRET 1 W IT9a9E 1 g4 2

TE faweg =1 =999 $ifan)

(1) (A) 3T (R) =FT T 2 31 (R) (A) =1 TF == 2|
(2) (A) 31T (R) 2FT I £ 311 (R) (A) i g === 98 2
(3) (A) TF 2 31T (R) 3383 2|

(4) (A) 39T 2 317 (R) OF 21

Options:
E1547527537. 1

E1547527838. 2
B1547527839. 3
61547527840, 4

Question Number : 86 Question Id : 6154757140 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements- one 1s labeled as assertion (A) and the other as Reason (R).

Assertion (A) : Monads are windowless

Reasonz (R) : There 1s pre-established harmony among Monads

Choose the correct option with reference to the philosophy of Leibnitz.

(1) Both (A) and (R) are true and (R) 1z the correct explanation of (A)

(2) Both (A) and (R) are true and (R) 1= not the correct explanation of (A)

(3) (A) 1s true and (R) 1s false
(4) (A) 1s false and (R) 1= true
Options:

BE1547527841. 1



B1547527842. 2
B1547527843. 3
61547527844, 4

Question Number : 86 Question Id : 6154757140 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

F 31 weE 50 0 | TEe A9 (A) ¥R 25 F aF (R) FE T 2

AR (A) . =g @R 2

TR P e A 2

AZFHF T 254 F J2d 4 "E fTHea = 999 Fifan

(1) (A) 3T (R) 2H1 g & 30T (R) (A) =1 T8 =ame=ar 2|

(2) (A) 31T (R) 21 T3 & 31 (R) (A) 1 T8 =am=gn 941 2|

(3) (A) T 2 31T (R) 3794 2|
(4) (A) 310 2 310 (R) OcF 2
Options:

B1547527841. 1
61547527842 2
E1547527843. 3
E1547527844. 4

Question Number : 87 Question Id : 6154757141 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Consider the following with reference to Kantian model of scientific judgment.

(a) Analytic
(b) Apriori
(c) Svnthetic

(d) Aposterior

Choose the correct option.

(1) {a) and (b)
(2) {c) and (b)
(3) {a) and (d)
(4) ic) and (d)
Options:
L1547E27E4E 1
E1E4FEZFE4AE. 2

E1547527847. 3
E1547527848. 4

Question Number : 87 Question Id : 6154757141 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FI0Z = AATEF H0F =+ =T F T2d I H9 7 39n Fifau|

(a) G RIE
(b)  ATI-AHHEE

(c) o9 McH=+

(d)  FEETEHA

Tt fawea 1 99 =ifay)
(1) (a) #AN (b)
(2)  (c) W (b)
(3)  (a) W (D)
4) () IR (d)

Options:

61547527845, 1
61547527846 2
61547527847, 2
E1547527848. 4

Question Number : 88 Question Id : 6154757142 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The statement. ~ (P = @) 1s equivalent to

(1) P.Q 2) Pv@
(3) P~ 4y @oP
Options:

615475278459 1
61547527850, 2
61547527851, 3
E1547527852. 4

Question Number : 88 Question Id : 6154757142 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T ~ (P> Q) FHAfRgd 4 4 T Toded 27

(1) P-Q (2) Pv@
(3) P.~Q (4) Q@2 P
Options:

61547527849 1
61547527850, 2
E1547527851. 3
E1547527852. 4

Question Number : 89 Question Id : 6154757143 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List — I with List — IL.

List — I List — II
(a) Hume (1) Impression
(b) Descartes (1) Subjective Idealism
(c) Berkelevy (111) Representationist
(d) Locke (1v) Dualism

Choose the correct option given below.

(1) (a)-(1) (b)-(1v)  (e)-(u1)  (d)-(11)
(2) (a)-(1) (b)-(1v)  (e)-(11) (d)-(111)
(3) (a)-(1) (b)-(111)  (e)-(1v) (d)-(11)

(4) (a)-(1) (b)-(11) (e)-(111) (d)-(1v)

Options:



BE1547527853. 1
61547527854, 2
61547527855, 3
61547527856, 4

Question Number : 89 Question Id : 6154757143 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

g1 1 I=-11 O gifea Fifag)
11 =11
(a) oM@ (1) TR
(b) =FH (ii)  HATHTE THAATE
(c) el (i) SfaFUEaR
(d) % (iv) gadlg

Tl % T =94 S -

(1) (a)-(1) (b)-(1v)  (e)-(111) (d)-(11)
(2) (a)-(1) (b)-(1v)  (e)-(11) (d)-(111)
(3) (a)-(1) (b)-(1m1)  (c)-(1v) (d)-(11)

(4) (a)-(1) (b)-(11)  (e)-(u1)  (d)-(1v)
Options:
61547527853, 1
61547527854 2
61547527855 2
61547527856 4

Question Number : 90 Question Id : 6154757144 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which one of the following book 1s authored by Berkelev?

(1) Enquiry concerning Human Understanding
(2) Principles of Human Knowledge
(3) Essay concerning Human Understanding

(4) Phenomenology of Spirit

Options:



B1547527857. 1
61547527858, 2
61547527859, 3
61547527860, 4

Question Number : 90 Question Id : 6154757144 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TAfafEd § O =19 o5l 0T T 09 27

(1)  3=argdl FatHn g sweseeien
2)  Tufaeea A gea T
'[3}' U?T\;:[ 3-:;?‘_‘!‘:] 6’]_14:5 £! ]:Jx:l::;.lrgll

(4)  TEAEATAS ATE TR
Options:
61547527857, 1
61547527858, 2
61547527859 2
61547527260, 4

Question Number : 91 Question Id : 6154757145 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘Agreement or disagreement of 1deas 1s knowledge’ 1s held by :

(1) Arstotle
(2) Locke
(3) Plato

(4) Berkeley

Options:

61547527861, 1
E1547527862. 2
E1547527862. 2
61547527864, 4

Question Number : 91 Question Id : 6154757145 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



“Teg=T i HEHld AT FHENd 7 &, 39 a9 F gfaues 2

(1) ELLESS |
(2) ==
(3) =R
(4)  whe
Options:

61547527861, 1
E1547527862. 2
E1547527863. 3
E1547527864. 4

Question Number : 92 Question Id : 6154757146 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s associated with Spinoza?

(a) Parallelism

(b) Interactionizsm
(c) Pantheism

(d) Occasionalism

Choose the correct option.

(1) (a) and (b)
(2) (d) and (e)
(3) (b) and (c)
(4) (a) and (c)

Options:

61547527865, 1
61547527866 2
61547527867, 2
61547527868 4

Question Number : 92 Question Id : 6154757146 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



et § 3 =4 31 o[ 3 gefag 27

{a) OOHT—1dTs

(b) A HAET
(c) G KE LT e
(d) EIEEEIER P

gl faed = I i)

(1) (a) #A (b)

(2) (d) 3T ()

(3) (b) 3T (c)

(4) (a) 31 (c)
Options:
61547527865, 1
61547527866, 2

E1547527867. 3
E1547527868. 4

Question Number : 93 Question Id : 6154757147 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following has said that “the infinite and finite are one as song and singing

are one 7

(1) Vivekananda (2) Tagore
(3) Sr1 Aurobindo (4) Gandh
Options:

615475278645, 1
E1547527870. 2
61547527871, 3
B1547527872. 4

Question Number : 93 Question Id : 6154757147 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Teafafgd 14 22 o Faa 2 & o o oid 30 voR v 2 90 e s e v e
(1) TaaFE= (2) R

(3) &1 =g (4) el

Options:

61547527869, 1
B1547527870. 2
B1547527871. 3



B1547527872. 4

Question Number : 94 Question Id : 6154757148 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Match List — I and List — IL.
List — I
(Vedic priest)
{(a) Hota
(b) Udgeata

(c) Adhvaryu

(d) Brahma

(1)

(11)

(111)

(1v)

Last —I1
(Function)

Who sings the hymns 1n sweet musical
tones

Who addresses hvmns in praise of the
zods

Who 1s the general supervisor. well
versed in all the vedas

Who performs the sacrifice according
to the strict ritualistic codes

Choose the correct answer with the help of options given:

(1) (a)-(11)  (b)-(1) (c)-(1v)  (d)-(111)
(2) (a)-(1) (b)-(11)  (e)-(m1)  (d)-(1v)
(3) (a)-(11)  (b)-Gv)  (c)-(2) (d)-(111)
(4) (a)-(v)  (b)-(11) (e)-(1)  (d)-(1)

Options:

61547527873, 1
61547527874 2
61547527875 2
E1547527876. 4

Question Number : 94 Question Id : 6154757148 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0



-1 =1 g=1-11 T gHfad Sirag)
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(d) w=m (iv) S Ui g faum w1 TeE wd g ARl
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(1) (a)-(1)  (b)-(1) (¢)-(iv)  (d)-(111)
(2) (a)-(1) (b)-(11)  (e)-(u1)  (d)-(1v)
(3) (a)-(1)  (b)-av)  (c)-(1) (d)-(1m)
(4) (a)-(1v)  (b)-(m1) (e)-(1)  (d)-(1)

Options:

61547527873, 1
61547527874 2
61547527875 2
E1547527876. 4

Question Number : 95 Question Id : 6154757149 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

"The state withers away in the end.” Who among the following advocates this?

(1) Isaiah Berlin (2) Bernard Willhlams
(3) Rawls (4) Marx
Options:

E1547527877. 1
E1547527878. 2
B1547527879. 3
B1547527880. 4

Question Number : 95 Question Id : 6154757149 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



(1) =918 9 (2) TAE AT
(3) o™ (4) T=d
Options:

B1547527877. 1
61547527878, 2
E1547527879. 3
E1547527880. 4

Question Number : 96 Question Id : 6154757150 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following has maintained that moral language 1s prescriptive?

(1) Ross {(2) Moore
(3) Hare (4) Ayer
Options:

61547527881, 1
E1547527882. 2
E1547527883. 3
B1547527884. 4

Question Number : 96 Question Id : 6154757150 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Tfafigs § 4 == fow o fa=m 2 B “fas g e et 207
(1) g (2) T

(3) W (4) THR
Options:

61547527851, 1
E1547527882. 2
E1547527883. 3
B1547527884. 4

Question Number : 97 Question Id : 6154757151 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following 1s upheld by Sam kara?

(1) Nityanitva vastuviveka (2) <Jnaana— karma — samuééava vada

(3 Bhedavada (4) Prapanéa — nityatvavada



Options:

61547527885, 1
1547527886 2
E1547527887. 2
61547527888, 4

Question Number : 97 Question Id : 6154757151 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FfEfEa 5 4 =g faga =1 9faaes o9 3 = 27

(1) T og faa= (2) TH-FH-TH=A9918
(3) EaTE (4) IIE-Fcaa-ae
Options:

B1547527885. 1
B1547527886. 2
G1547527887. 3
61547527888, 4

Question Number : 98 Question Id : 6154757152 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which of the following dialogues Plato writes about the Ring of Gyges?

(1) Phaedo (2) Republic
(3) Crito (4) Apology
Options:

61547527859, 1
E1547527830. 2
E15475278391. 3
B1547527832. 4

Question Number : 98 Question Id : 6154757152 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

wiel F Fafafas § O 0 gag § mee F 3t o 9w o foa 27

(1) e (2) fofea=
(3) e (4) UgTAT
Options:

E154752788%9. 1
E1547527830. 2
E15475278391. 3
B1547527892. 4



Question Number : 99 Question Id : 6154757153 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A

Which school/schools among the following upheld the reality of external object in Buddhism?

(1) Madhyvamika only (2) Yogacara only
(3) Sautrantika only (4) Both Sautrantika and Vaibhhasika
Options:

615475278593, 1
615475278394, 2
61547527835, 3
61547527836, 4

Question Number : 99 Question Id : 6154757153 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A 294 4 efafiad 4 # o foemam /faamamsii § s1e @ 1 32974 OH1 70 27

(1)  Fd< OIeAo (2) Fae TATER
(3) Ao GHEIdH (4) HE=ifaE wd Farfed 2ET
Options:

E1547527893. 1
E1547527894. 2
615475278385 3
G15475278396. 4

Question Number : 100 Question Id : 6154757154 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following 1s not consistent with "adrst a’ according to Nyaya?

(1) The stock of merit and demerit (2)  Unseen power
(3) Unintelligent (4) Moral governor
Options:

61547527837, 1
E154752783958. 2
B1547527899. 3
B1547527300. 4

Question Number : 100 Question 1d : 6154757154 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

B1547527897. 1
B1547527898. 2
61547527895, 3
E1547527300. 4

Question Number : 101 Question Id : 6154757155 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following theories maintains the principles that the severity of punishment
should be directly proportional to the seriousness of crime?

(a) Deterrent theory

(b) Retributive theory

{(c) Reformative theory

Choose the correct option.

(1) (a) and (b)
(2) (c) only
(3) (a) only

(4) (b) only
Options:

61547527901, 1
61547527302, 2
61547527303, 3
61547527304, 4

Question Number : 101 Question Id : 6154757155 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(2)  Hdd (c)
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(4) Fa4 (b)

Options:

61547527901, 1
61547527302 2
61547527902 2
E1547527304 4

Question Number : 102 Question Id : 6154757156 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following statements match with emotive theory of ethics?

(a) The function of ethical language 1s to express feelings
(b) If a statement 1s not verifiable by observation. it 13 not tautologous
(c) Ethical predicates are factual

Select the correct optlion.

(1) only (a)
(2) (b) and (c) only
(3) (a) and (c) only

(4) (a). (b) and (e)



Options:

61547527305, 1
61547527906 2
E1547527307. 2
61547527908, 4

Question Number : 102 Question Id : 6154757156 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(4) (a). (b) 31T (c)

Options:

61547527905, 1
61547527906 2
61547527307, 2
61547527308, 4

Question Number : 103 Question 1d : 6154757157 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List-I and List-II.

List I Last IT
(Author) (Writings)
(a) Spencer (1)  Data of Ethics
(b) Mackenzie (11) Metaphysics of Morals
(c) Sidgwick (1) A Manual of Ethics
(d) EKant (tv) Methods of Ethics

Choose the correct option.

(1) {(a)-(11)  (b)-(1) (c)-(1v)  (d)-(111)
(2) (a)-(111) (b)-(11} (c)-(1) (d)-(1v)
(3 (a)-(1) (b)-(111)  (c)-(1v) (d)-(11)

(4) {(a)-(1) (b)-(11)  (e)-(m1)  (d)-(1v)

Options:

£15475273039,
£1547527910.
61547527911,
61547527912,

o LIRS

Question Number : 103 Question Id : 6154757157 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (a)-(11) (b)-(1) (c)-(1v)  (d)-(1m1)

(2) (a)-(111)  (b)-(11)  (e)-(1) (d)-(1v)

(3) (a)-(1) (b)-(m1)  (c)-(av)  (d)-(11)
(4) (a)-(1) (b)-(11) (c)-(mm1)  (d)-(1v)
Options:

E1547527390%3. 1
B1547527910. 2
B1547527911. 3
G1547527391%2. 4

Question Number : 104 Question Id : 6154757158 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Given below are Assertion (A) and Reason (R).

Assertion (A) : Eeason must be taken as moral standard

Reaszons (R) : Happiness cannot be taken as moral standard

Select the correct option 1n the context of Kantian ethics :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 18 not the correct explanation of (A)
(3) (A) 18 true and (R) 15 false

(4) (A) 12 false and (R) 1= true



Options:

61547527913, 1
61547527914 2
E1547527315 2
61547527916 4

Question Number : 104 Question Id : 6154757158 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
E15475273915. 1
E1547527914 2
BE1547527915 3
61547527916 4

Question Number : 105 Question 1d : 6154757159 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List — I with List— II.

Last I List IT
{Author) (Writing)
(a) S Aurobindo (1) India Wins Freedom
(bh) J.Erishnamurta (11) Hindu View of Life
(¢) Radhakmshnan (1) From Darkness to Light
(d) Maulana Azad (1v) The Problem of Rebirth

Choose the correct answer.

(1) (a)-(1v)  (b)-(m1) (c)-(m) (d)-(1)
(2) (a)-(1) (b)-(1v)  (c)-(m1)  (d)-(1)
(3) (a)-(11) (h)-(1) (c)-(1v)  (d)-(m1)

(4) (a)-(111)  (b)-(11) (e)-(1) (d)-(1v)

Options:

61547527917, 1
E1547527318. 2
61547527919, 5
61547527920 4

Question Number : 105 Question Id : 6154757159 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (a)-(v)  (b)-(11)  (c)-(11) (d)-(1)
(2) (a)-(1) (b)-(1v)  (e)-(111)  (d)-(11)
(3) (a)-(11) (b)-(1) (e)-(1v) (d)-(111)

(4) (a)-(111) (b)-(11) (c)-(1) (d)-(1v)

Options:

61547527917, 1
615475279318 2
61547527319 2
61547527320 4

Question Number : 106 Question Id : 6154757160 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List — I with List — II.

List I
(Thinker)
(a) K. C. Bhattacharva
(b) Tagore

(c) Vivekananda
(d) Radhakrizhnan

(1)
(1)
(111)

(1v)

List II
(View)
Mayva 1s sumply a statement of facts

The region of negation 1s the region of
the Indefinite

World 1= an ordered whole

When vou deprive truth of 1its
appearances 1t lozes the best part of
reality

Choose the correct answer with the help of codes given.

(1) (a)-(1) (b)-(m1)  (e)-(11)
(2) (a)-v)  (b)-(1) (c)-(11)
(3) (a)-(111)  (b)-(1) (¢)-(11)
(4) (a)-(11) (b)-av)  (e)-(1)
Options:

BE1547527921. 1
B1547527922. 2
B1547527923. 3
B1547527924. 4

(d)-(1v)
(d)-(111)
(d)-(1v)

(d)-(112)

Question Number : 106 Question Id : 6154757160 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (a)-(1) (b)-(111)  (c)-(11) (d)-(1v)
(2) (a)-(iv)  (b)-(1) (c)-(11) (d)-(111)
(3) (a)-(u1)  (b)-(2) (¢)-(11) (d)-(1v)
(4) (a)-(1)  (b)-(v)  (c)-(1) (d)-(111)

Options:

61547527921, 1
61547527322 2
E1547527922. 2
1547527924, 4

Question Number : 107 Question Id : 6154757161 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Write correct sequence regarding Sri Aurcbindo’s concept of triple transformation

(1) Spiritual transformation. Psychic transformation. supramental transformation
(2) Psvchic transformation. supramental transformation. Spiritual transformation
(3) Supramental transformation. spiritual transformation. Psychic transformation
(4) Psychic transformation. spiritual transformation. supramental transformation
Options:

BE1547527925. 1
B1547527926. 2
B1547527927. 3
B1547527928. 4

Question Number : 107 Question Id : 6154757161 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(3) A AFMES T, AT o FA, ST ET
(4) =0T T, STEATHE B, 317 OHEE BT
Options:

B1547527925. 1
B1547527926. 2
B1547527927. 3
E1547527328. 4

Question Number : 108 Question Id : 6154757162 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who among the following upholds the concept of “Gnostic Being™?

(1) J.Krmshnamurt (2) Naravana Guru
(3) D. D. Upadhyayva (4) Sr Aurobindo
Options:

61547527929, 1
E1547527930. 2
B1547527921. 3
B1547527932. 4

Question Number : 108 Question Id : 6154757162 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TefatEd § T F7 Tesael 9l S STEEanen i 9iAaed T 27
(1) S F9mid (2) ARET TE
(3)  E.E. I (4) o sl
Options:

6154752792591
615475273920, 2
615475273931, 3
E1547527932. 4



Question Number : 109 Question Id : 6154757163 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

G1lven below are Assertion (A) and Reason (R). Considering them 1n the context of Gandhian
philosophy.

Assertion (A) : If one takes care of the means. the end will take care of itself

Reasons (R) : Ends justify the means
Select the correct option from below.

(1) Both (A) and (R) are true and (R) 1= the correct explanation of (A)

(2) (A) 1s true and (R) 1s false and (R) 1s not the correct explanation of (A)
(3) (A) 1s false and (R) 1s false

(4) (A) 1s false and (R) 1s true

Options:

61547527933, 1

61547527334 2

61547527935 3
E1547527336. 4

Question Number : 109 Question Id : 6154757163 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547527933, 1
61547527924, 2
61547527935, 3
E1547527936. 4

Question Number : 110 Question Id : 6154757164 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



According to K.C. Bhattacharvya which one of the following pairs 1s the branch of philosophy
of object?

(1) Logic and Epistemology (2) Logic and Metaphyvsics
(3) Logic and Mathematics (4) Logic and Science
Options:

61547527937, 1
61547527928, 2
61547527929, 3
61547527340, 4

Question Number : 110 Question Id : 6154757164 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  d=hsA 3T 3H g (2)  TeREIE T T
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Options:

B1547527937. 1
B1547527938. 2
B1547527935. 3
61547527340, 4

Question Number : 111 Question 1d : 6154757165 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which one of the following 1= NOT included 1in ‘Vedatrayi™?

(1) Rgveda (2)  Yajurveda
(3) Atharvaveda (4) Samaveda
Options:

E1547527941. 1
B1547527942 2
B1547527943. 3
61547527944, 4

Question Number : 111 Question Id : 6154757165 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:



B1547527941. 1
B1547527942 2
61547527943 3
E15475273944. 4

Question Number : 112 Question Id : 6154757166 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following holds the view that “The Civil law alone 1s the Supreme Court of
Appeal in all cases of ‘Right’ and "Wrong'?

(1) Mall (2) Hobbes
(3) Descartes (4) Locke
Options:

B1547527945. 1
B154752794E. 2
E15475273947. 3
615475273458, 4

Question Number : 112 Question Id : 6154757166 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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L = (2) wam
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Options:

615475273945 1
61547527346, 2
E1547527947. 3
E1547527948. 4

Question Number : 113 Question Id ;: 6154757167 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The view that ‘The law 1s made for the sake of man and not for the sake of the law’

represents the eriticism of which of the following thinkers?

(1) Moore (2) Hegel
(3) Kant {4) Spencer
Options:

61547527949 1
61547527350, 2
E1547527951. 3
B1547527952. 4



Question Number : 113 Question Id : 6154757167 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
T2 fa=ar 7 “FA 09 % fou 2 3 TR #E % e, 98 Felaigd 3 O e =a i arsEa w14

FAT 27
(1) = (2) e
(3) CALE (4) Exsrory
Options:

B15475279459. 1
B1547527950. 2
615475273951, 3
61547527352, 4

Question Number : 114 Question 1d : 6154757168 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who among the following has zaid that "My relizion teaches me that whenever there 1s
distress which cannot be removed one must fast and pray™

(1) Vivekananda (2) Gandhi
(3 Tagore (4) Radhakrishnan
Options:

E15475273953. 1
E1547527954. 2
B1547527955. 3
B1547527956. 4

Question Number : 114 Question Id : 6154757168 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Fofafgs 1 0 92 o #0132 1% 700 9 g3 A 2 % R 1 v A 3fem g, S E T
AT A1 Thdl, d1 89 399 TE J1ed, 3T T A =ne)

(1)  faa=+mg (2) T
(3) & (4) TTETEIH
Options:

615475273952 1
615475273954, 2
E1547527955. 3
B1547527956. 4

Question Number : 115 Question Id : 6154757169 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



p 2 q. g 2r therefore, p 2ris of the form of :

(1) Modus Tollens (2) Hypothetical Syllogism
(3) Modus Ponens (4) Disjunctive Syllogism
Options:

B1547527957. 1
615475273958, 2
6154752739549, 3
61547527360, 4

Question Number : 115 Question Id : 6154757169 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475273957, 1
61547527358, 2
E1547527959. 3
B15475273960. 4

Question Number : 116 Question Id : 6154757170 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

When a conclusion is drawn from only one premise it 1s called :

(1) Induction (2) Immediate Inference
(3) Mediate Inference (4) Inductive Mediate Inference
Options:

B1547527961. 1
B1547527962. 2
G1547527363. 3
E1547527364. 4

Question Number : 116 Question Id : 6154757170 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) AT (2) IT=dElEd FIHE
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Options:

BE15475273961. 1
B1547527962. 2
B1547527963. 3
B15475273964. 4

Question Number : 117 Question 1d : 6154757171 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which type of argument makes the claim that its conclusion 1z supported by its premises

conclusively?

(1) Inductive (2) Deductive
(3) Hypothetical Argument (4) Indirect Proof
Options:

615475273965, 1
E15475273966. 2
E1547527367. 3
E15475273965. 4

Question Number : 117 Question Id : 6154757171 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 3 s v (2 r-_-|.] O4ATcH=h
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Options:

B1547527965. 1
B1547527966. 2
E1547527367. 3
E15475273658. 4

Question Number : 118 Question Id : 6154757172 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The characteristic of any deductive argument whose premises if true would provide

conclusive grounds for the truth of its conclusion 1s called :

(1) Implication (2) Truth Value
(3) Validity (4) Modus Ponens
Options:

615475273969, 1
E1547527970. 2
B1547527971. 3
B1547527972. 4

Question Number : 118 Question 1d : 6154757172 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Tt fATen= a9k & 379R 9199 O 9 2, 1 9 39F e & O & fou fuigs snum uem #1d 2.

(1) AT (2) T YA
(3) ELL (4) TAIETHF TTFAHAN
Options:

615475279645, 1
B1547527970. 2
E1547527971. 3
E1547527972. 4

Question Number : 119 Question Id : 6154757173 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(x)(ex): @- (where v iz any individual symbol) is form of:

(1) Universal Generalization (2)  Universal Instantiation
(3) Existential Instantiation (4) Existential Generalisation
Options:

E1547527973. 1
E1547527974. 2
B1547527975. 3
B1547527976. 4

Question Number : 119 Question Id ;: 6154757173 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

B1547527973. 1
B1547527974. 2
B1547527975. 3
E1547527976. 4

Question Number : 120 Question Id : 6154757174 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Tvpe of immediate inference 1n which subject and predicate terms are sumply interchanged 1s
called:

(1) Converslon (2) Obversion
(3) Contraposition (4) Inversion
Options:

B1547527977. 1
E1547527978. 2
E1547527979. 3
E1547527980. 4

Question Number : 120 Question Id : 6154757174 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
a8 F=dAied AIAH T Feadl ¢ (980 35579 3R 9T veal i 399 ° 964 531 961 2 7

(1) gfadT AR IGELES
(3) T a (4) TauiEd
Options:

E1547527977. 1
E1547527978. 2
E1547527978. 3
E1547527980. 4

Question Number : 121 Question Id : 6154757175 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Choose the correct option for the symbolizsation of the following:

All women are brave. Some humans are women. Therefore some humans are brave.

(x)(Wx o Bx) (x)(Bx o Wx)
(1) (Ix)(Hx - Wx) (2) (dx)(Wx-Hzx)
~(dx)(Hx - Bx) - (3x)Wx o Hx)
(x)(Wx o Bx) (x)(Wx o Bx)
(3) (Ix)(Hx > Wx) (4) (dx)(Wx o Hx)
- (Ix)(Hx - Bx) - (Fx)Bx - Hx)

Options:

61547527981, 1
61547527982 2
61547527383 2
61547527334 4

Question Number : 121 Question Id : 6154757175 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

faigd & T & fau o8 faeq &1 999 =4
Tsfl HiEw HE 2
F& BT A 2 |
Y F5 71 " 2

(x)(Wx o Bx) (x)(Bx > Wx)
(1) (Ix)(Hx - Wx) (2) (Ix)(Wx-Hx)

S (3x){Hx - Bx) - (@x)(Wzx o Hx)

(x){iWx o Bx) (x)(Wx o Bx)
(3) (Ix)(Hx o Wx) (4) (3x}Wx o Hx)

S (3x)(Hx-Bx) = (3x)(Bx - Hx)

Options:
61547527951, 1

E1547527982. 2
BE1547527983. 3
B1547527984. 4

Question Number : 122 Question Id ;: 6154757176 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



According to traditional square of opposition if E is given as false then:

(1) ‘I” is false. “A’ is undetermined. ‘O’ is false

(2) ‘T’ is false. ‘A’ is undetermined. ‘O’ is undetermined
(3) ‘T" is true, “A’ is true. ‘O’ iz undetermined

(4) 'T" is true. ‘A’ is undetermined. ‘O is undetermined
Options:

61547527985, 1
E1547527986. 2
B1547527987. 3
B1547527988. 4

Question Number : 122 Question Id ;: 6154757176 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
RETTE fRg @ % 99ER 7 B sme o g A

(1) ‘T s 2, A’ stgifm 2, "O7 swe 2
@ T sm g, ‘A’ sfeifE 2, 'O afuife 2
(3) ‘T o= 2, ‘A" g2, 'O zfgifia 2

(4) ‘T @ g, A’ afgifa g, 'O sAfaiiaE 2

Options:

61547527985, 1
615475279586, 2
61547527987, o
615475279388, 4

Question Number : 123 Question Id : 6154757177 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The law of thought that asserts if any statement 1s true then it 1s true’ 1s

(1) Principle of Identity (2) Principle of Non-contradiction
(3) Principle of Excluded nmaddle (4) Principle of Material Implication
Options:

61547527959, 1
E15475279380. 2
BE15475279391. 3
B15475279582. 4

Question Number : 123 Question Id : 6154757177 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



AT i e I O T R d FA 2 TR FE T A 2, A a2 A4 2 7

(1)  @ee = i (2)  T=ATEE = faE
(3) WM ufiEr = fagra (4) Wies® 3EH # fagr4
Options:

E15475273959. 1
E15475279380. 2
B15475279391. 3
B1547527992. 4

Question Number : 124 Question Id : 6154757178 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Proofs 1n propositional logic using rules of inference are called

(1) Natural deduction (2) Rules of Inference
(3) Elementary valid argument (4) Laws of thought
Options:

61547527953 1
61547527934, 2
61547527935 3
E15475279396. 4

Question Number : 124 Question Id : 6154757178 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FITH = A 1 3T FG 70 AT aHera § Yd SO A FEed @ 7

(1) AT = (2) IFEE % W
(3) YR 99 9% (4) T2 = =8
Options:

615475279392 1
61547527934, 2
E15475279385. 3
B15475279396. 4

Question Number : 125 Question Id : 6154757179 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The statement —war and courage have done greater things than charity” can be attributed to:

(1) Nietzzche (2) John Deweyv
(3) Sartre (4) Heidegger
Options:

B15475279397. 1
E1547527938. 2
E15475279598. 3



E1547528000. 4

Question Number : 125 Question Id : 6154757179 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
g AR OEE 4 2F W A9 AGF 92H FE 0 E - T8 YA [ 87

(1) A= (2) &S
(3) HH (4) TEIW
Options:

615475279571
615475279388, 2
E15475279399. 3
E1547528000. 4

Question Number : 126 Question Id : 6154757180 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘Beetle in the box' analogviexample presented by Wittgenstein 1n his Philesophiecal
Investigations pertains to:

(1) Fideism (2) Notion of Philosophy
(3) The picture theory (4) Critigue of Private Language
Options:

615475238001, 1
E1547528002. 2
B1547528003. 3
B1547528004. 4

Question Number : 126 Question 1d : 6154757180 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
A== g A TR R SEFTSHE 4 Wgd e 99 0 98 $2 (fea e ad ) e 0 9
O Oaiad 2 7

(1) ATHTETS (2) =3 aEm
(3) T fugE (4) =ATFATT 991 I A=A

Options:

61547525001, 1
61547528002, 2
61547528003 =
61547528004, 4

Question Number : 127 Question 1d : 6154757181 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



For Sartre treating oneself as a part of facticity alone amounts to:

(1) Being-for-others (2) Being-for-itself
(3) Bad Faith (4) Humanism
Options:

61547528005, 1
E1547528006. 2
61547525007, 3
E1547528008. 4

Question Number : 127 Question Id : 6154757181 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Tl = 74U ¥a9 i hdel dATcHSAT = 90 % B9 H AT #41 el ¢ ?

(1)  THdEd (2) =
(3) o/ ATCHIE=A (4) HHEdTE
Options:

E1547528005. 1
61547528006, 2
61547525007, 3
E1547528008. 4

Question Number : 128 Question Id : 6154757182 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

The 1dea of ‘Transvaluation of Values™ 1= propounded by:

(1) Moore (2) Nietzsche
(3) Kierkegaard (4) Sartre
Options:

E154752800%3. 1
E1547528010. 2
61547528011, 3
G154752501%2. 4

Question Number : 128 Question 1d : 6154757182 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

"Gl 1 GeATal A =R e g Siqaied e T g

(1) L (2) =
(3)  HTE (4) @H
Options:

E154752800%3. 1
B1547528010. 2
61547528011, 3

Yes

Yes

Yes



BE1547528012. 4

Question Number : 129 Question Id : 6154757183 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List-I and Last II.

List I List II
(a) Sartre (1)  Fear and Trembling
(b)  Nietzsche (11) Being and Nothingness
(c) Kierkegaard (111) Varieties of Religious Experiences
(d) William James (1v) Geneology of Morals

Choose the correct answer.

(1) (a)-(11)  (b)-(1) (c)-(v)  (d)-(111)
(2) (a)-(11) (b)-(v)  (c)-(1) (d)-(111)
(3) (a)-(v)  (b)-(11)  (e)-(1) (d)-(111)
(4) (a)-(11) (b)-(11)  (e)-(1) (d)-(1v)
Options:

61547528012, 1
615475258014, 2
E1547528015. 3
B1547528016. 4

Question Number : 129 Question Id : 6154757183 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



-1 1 G=1-I1 = A1 JHTeAd hifg)

-1

gE-I1

(a) TOH (1) A UUg Tt

(b) e (i) =T urE Figg

(c) HrFE (iil) TEEE 3ITF ity v
(d) Tafe=m 9 (iv) ST 3% THeH

= i w1 fawedt i gema @ w3 g -

(1) (a)-(11)  (b)-(1) (c)-(1v)  (d)-(i11)
(2) (a)-(11)  (b)-av)  (c)-(1) (d)-(111)
(3) (a)-(1v)  (b)-(1)  (e)-(1) (d)-(111)
(4) (a)-(111)  (b)-(11)  (c)-(1) (d)-(1v)

Options:

61547528013, 1
61547528014, 2
61547528015 2
E1547528016. 4

Question Number : 130 Question Id : 6154757184 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to Kamandakiva Nitisara the term 'travl’ refers to

(1) Bhagvadegita. Upanisadas. Brahmasutras
(2) Rk. Yajur. Sama

(3) Smrtis. Sruti. Upanisads

(4) A ranyvakas . Smrtis and Upanisads
Options:

61547528017, 1
61547528018, 2
E1547528018. 3
E1547528020. 4

Question Number : 130 Question Id : 6154757184 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(1)  gEeHEl, 39HYE, o9& 9
(2) R, T, WH

(3)  Tfa, gfd, 37HTE

(4)  ANTTE, Wi AR 3943

Options:

61547528017, 1
61547528018 2
1547528019, 5
61547528020 4

Question Number : 131 Question Id : 6154757185 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to Kautilya's Arthasastra. the authority vested in the King to make law 1s derived
from which of the following sources?

(1) Dharma,Vyavahara, Charita, Rajasasana
(D) Dharma. Vyavastha. Charita, Rdjasdsana
(3) Isvara, Janasdsana, Charita, Rajasdsana
(4) Isvara, Janapada, Charita, Tray:

Options:

61547528021, 1
E1547528022. 2
61547528023, 3
E1547528024. 4

Question Number : 131 Question Id : 6154757185 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Fiteed = AUETA F JFEE T H FHigd F90 991 #71 A9%F0 2| Faigd 3 0 6 961 9 Bied 27

(1) Y, =Idgl, =g 31T =9
(2)  gH, SHFEdT, Jid 3 TEemEE
(3) é%'a]” A4ETHA, 1_;|'h7-[ ':.ﬂT = E e

(4) TR, 95, FiE A A
Options:

61547528021, 1

61547528022 2

61547528022 2

615475258024, 4

Question Number : 132 Question Id : 6154757186 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following 1s not enumerated by Kautilya as an essential organ of the State?

(1) Danda (2) Mitra
(3) Durga (4) Jnanapada
Options:

B1547528025. 1
B1547528026. 2
B1547528027. 3
E1547528028. 4

Question Number : 132 Question Id : 6154757186 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
AT § | ToReehl 0T A0 g U F AT S R EY 0 AR R T 2 7

(1) = 2y fm=
(3 @i (4) TR
Options:

61547528025, 1
E1547528026. 2
E1547528027. 3
E1547528028. 4

Question Number : 133 Question Id : 6154757187 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

To create doubt in the mind of the enemy amounts to which of the following Upavas as
mentioned 1n Arthasatra?

(1) SAma (2) Dama
(3) Danda (4) Bheda
Options:

615475280259, 1
61547528020, 2
E1547528021. 3
61547528032, 4

Question Number : 133 Question Id : 6154757187 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Fefoe § affs Fefafaa § & =1 o1 39m v % ofeaes O s 309 # & T 27

(1) am (2) <M
(3) g (4) 95
Options:

615475280259, 1



E1547528030. 2
61547528021, 3
B154752803%. 4

Question Number : 134 Question 1d : 6154757188 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following 1s NOT true of Will Kymlicka's views regarding multiculturalism?

(1) He advances a theory of ‘mirror representation’

(2) He seeks to replace the individualistic model of representation by model of group
representation

(3) A group should be represented 1n proportion to its numbers in the population at large

(4) The groups cannot refuse the provision of their separate representation

Options:

BE1547528023. 1
61547528024, 2
61547528035, 3
615475258036, 4

Question Number : 134 Question Id : 6154757188 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TG # e 1 faa fafer % Sfesm § fefatas § 8 =65 @ 96 38 27
(1) 38 fom= gfaHygm = fage &5
(2) T8 SFam TAHge 9% F T WiAHae 9% 3R 951 9 2

(3)  THE 1 UG JHUEA * A9 4 gET J1E0)

(4) TR A TFF WAHTA Fl T I TFE 6 T |

Options:

61547528033 1
61547528024, 2
61547528035, 5
61547528036, 4

Question Number : 135 Question Id ;: 6154757189 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who among the following feminist thinkers argues that women have been given dependent
derivative status as ‘the other of man’ as the product of her upbringing in society and
challenges Freud's dictum ‘anatomy 1s destiny'?

(1) Mary Wollstonecraft (2)  Simone de Beauvolr
(3) Carole Pateman (4) Betty Friedan
Options:

BE1547528027. 1
615475280238, 2



E1547528039. 3
B1547528040. 4

Question Number : 135 Question Id : 6154757189 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FefAfiad TAEE [9=rFl 4 O as 099 7 % gfgensdi &0 9979 § 396 9o 989 = 97000 =Ry
A ANI, oo F41d 926 6 T ¢ AR A B2 F FEE SEAEEE] HAE 2 F FHE ol § 7
(1) W a==TmTe (2) TEEM 7 T

(3)  FA 9EHT (4) A HhiEA

Options:

E1547528037. 1
E15475280238. 2
61547528035, 3
61547525040, 4

Question Number : 136 Question Id : 6154757190 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who among the following can be said to have discovered a method of making procedural
justice an instrument of meeting the requirement of substantive justice?

(1) Bernard Williams (2)  John Rawls
3) Robert Nozick (4) Dworkin
Options:

E1547528041. 1
B1547528042 2
B1547528043. 3
61547525044, 4

Question Number : 136 Question Id : 6154757190 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Trafafga § O 50 ubraeas = a9 $1 9gfd 1 afasEdl #7 9%d @ 91 6 gedricass A
AT =R }%Tﬁﬂm‘iﬂ ?3

(1) =HE T (2) =9 TH
(3)  TEe dita=® (4) S
Options:

61547528041, 1
E154752804%2. 2
615475258042, 3
E1547528044. 4

Question Number : 137 Question Id : 6154757191 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Isaliah Berlin associated the idea of negative liberty chiefly with which of the following?

(1) Classical Marxism (2) Later Marxism
(3) Classical Liberal Tradition (4) Communitarianism
Options:

61547528045, 1
E154752804E. 2
615475258047, 3
E15475280458. 4

Question Number : 137 Question Id : 6154757191 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
HATEHTE Sl T THRIHF HaadT & (a=n 1 fFefatEs § 4 g7 =9 4 frod geg g 7

(1)  ¥I=F gEEdrE (2) I HIFHAR
(3) IS IERATE W (4) HHIEAET
Options:

61547528045, 1
E154752804E, 2
E1547528047. 3
515475280458, 4

Question Number : 138 Question Id : 6154757192 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following ethical principles forms the underlyving assumption of Peter Singer's
views in Applied Ethics?

(1) Duty for Duty's sake

(2) Golden Mean

(3 Maximum amount of happiness for maximum number of people
(4) Intrinsic value of all objects

Options:

E1547528045. 1
E1547528050. 2
B1547528051. 3
61547528052, 4

Question Number : 138 Question 1d : 6154757192 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  Tded & fou Fdey
(2)  TANE Teay
(4) T FTAT F AT o

Options:

15475280439, 1
61547528050 2
61547528051, =
61547528052 4

Question Number : 139 Question 1d : 6154757193 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following 1ssues comes under the purview of Business Ethics?

(a) Corporate Moral Agency
(b) Corporate Moral Responsibility
(c) Corporate Social Responsibility

(d) Advertizing

Select the correct option:

(1) Only (b) (¢) and (d)
(2) Only (b) and (c)

(3) Only (a) (¢c) and (d)
(4) All (a) (b) (c) and (d)
Options:

15475280521
E154752E054. 2
G1547528055 2
61547528056 4

Question Number : 139 Question Id ;: 6154757193 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Fefafgd § T %19 ¥ qeg =IaareeF 99 & THEE = 409 37 8 7
(a)  =AEETE Afd® vSHl (FA 919)

(h) FHIEF A% 39 A B Ls

(c) =G HHIES g

(d) Tagmm

TE [@hed F1 99 Hiae|

(1)  =ad (b) (¢) 3T (d)
(2)  HaA (b) AW (c)

(3)  HaEA (a) (¢) ¥R (d)
(4)  (a) (b) (¢) 3 (d) T
Options:

61547528053, 1
61547528054, 2

51547528055, 3
61547528056, 4

Question Number : 140 Question Id : 6154757194 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following 1s not true of 'Land Ethic’ as propounded by Aldo Leopold?

(1) A Land Ethic can prevent the alteration. management and use of nature and its
resources

(2) Land Ethic affirms the right of nature and its resource to continued existence

(3 Land Ethic can changes the role of Homo Sapiens from the conqueror of the land
community to plain member and citizen of it

(4) It implies respect for his fellow-members and also respect for the community as such

Options:

E1547528057. 1
E1547528058. 2
E1547528059. 3
B1547528060. 4

Question Number : 140 Question Id : 6154757194 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547528057, 1
61547528058, 2
E1547528059 2
1547528060, 4

Sub-Section Number: 2
Sub-Section 1d: 615475318
Question Shuffling Allowed : Yes

Question Id : 6154757195 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cuesticon Label | Comprehiension

Read the passage below and answer the questions which follow.

The word "analysis’ derives from the ancient Greek term ‘analusis’. The prefix ‘ana means
‘up’. and ‘lusis’ means ‘loosing’. ‘release’ or ‘separation’. so that ‘analusis’ means ‘loosening up’
or ‘dissolution’. The term was readily extended to the solving or dissolving of a problem. and
1t was 1n this sense that 1t was emploved in ancient Greek geometry and philozophyv. The
method of analvsizs that was developed 1n ancient Greek geometry had an influence on both
Plato and Aristotle. Also important. however. was the influence of Socrates’s concern with
definition. in which the roots of modern conceptual analysis can be found. What we have in
ancient Greek thought. then. 1s a complex web of methodologies. of which the most important
are Socratic definition. which Plato elaborated into his method of division. his related method
of hypothesis. which drew on geometrical analyvsis. and the method(s) that Amstotle
developed 1n his Analyvtics. Far from a consensus having established itself over the last two
millennia. the relationships between these methodologles are the subject of increasing debate
today. At the heart of all of them. too. lie the philosophical problems raised by Meno's
paradox. which anticipates what we now know as the paradox of analysis. concerning how an
analyvsis can be both correct and informative and Plato's attempt to solve it through the
theory of recollection. which has spawned a vast literature on 1ts own.

Sub questions

Question Number : 141 Question Id : 6154757196 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Plato’s methed of hyvpothesis draws on:

(1) philosophical analyvsis (2) ethical analysis
(3) geometrical analvsis (4) physical analysis
Options:

61547528081, 1
E1547528062. 2
E1547528063. 3
B1547528064. 4



Question Number : 142 Question Id : 6154757197 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Socrates’ concern with definition led to:

(1) physical analysis (2) geometrical analysis
(3) mathematical analvsis (4) conceptual analysis
Options:

E15475280E5. 1
E1547528066. 2
B1547528067. 3
B1547528068. 4

Question Number : 143 Question 1d : 6154757198 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Socrates” definition was extended by Plato into:

(1) Meno's paradox (2) Geometrical analysis
(3) Method of division (4) Method of science
Options:

615475280849, 1
E1547528070. 2
61547528071, 3
E1547528072. 4

Question Number : 144 Question Id : 6154757199 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Paradox of analvsis relates to

(1) how a line can be extended

(2) how any analysis can be informative
(3) how physics 1s a science

(4) how recollection 1s possible

Options:

B1547528073. 1
61547525074, 2
E1547528075. 3
61547528076, 4

Question Number : 145 Question Id : 6154757200 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Greek thought contains:

(1) A zingle method of analysis
(2) a complex network of methods
(3) a simple web of methodologies
(4) a rejection of all methods
Options:

E1547528077. 1
61547528078, 2
E1547528073. 3
E1547528080. 4

Question Id : 6154757195 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cesticn Label | Comprehiension
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Sub questions

Question Number : 141 Question Id : 6154757196 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547528061, 1
E15475280682. 2
E15475280E82. 2
1547528064, 4

Question Number : 142 Question Id : 6154757197 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
OFIE F IR F g g T R ant gwea e
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(3) T favemm (4) FIIRUIEF Ivemm
Options:

61547528085, 1
E154752806E. 2
BE1547528067. 3
B1547528068. 4

Question Number : 143 Question Id ;: 6154757198 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E15475280649. 1
B1547528070. 2
B1547528071. 3
E154752807Z2. 4

Question Number : 144 Question 1d : 6154757199 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547528073, 1
61547528074 2
E1547528075 2
1547528076, 4

Question Number : 145 Question Id : 6154757200 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547528077, 1
61547528078, 2
61547528079 2
E1547528020. 4

Sub-Section Number: 3
Sub-Section 1d: 615475319
Question Shuffling Allowed : Yes

Question Id : 6154757201 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuesticon Label | Comprehension



Read the passage carefully and answer the questions which follow.
One of the philosophic problems that Nagarjuna raised for epistemology has to do with an
alleged regress of justification on the assumption that a pramé&nais required in order to

know and that to identify the source of a bit of knowledge 1z to certify the proposition
embedded. Nagarjuna claims that this 1s absurd in that it would require an infinite series

of praména. of identification of a more fundamental pramana for everypramana, relied on.
Mimamsa and Vedanta philosophers argue that such a threat of regress shows that
knowledge is self-certifying. svatah pramanya. Vedantins connect the Upanishadic teaching

of a truest or deepest self (@tman) as having “self-1llumining awareness” (sva-prakdsa) with a

MIma msa epistemological theory of self-certification: at least in the case of spirtual

knowledge (vidya) awareness 1s self-aware. From this 1t follows that only awareness 1s right
concerning all questions about awareness. since only awareness itself has. so to say. access to

itself. Awareness itself 1s the only consideration relevant to anyv guestion about awareness

itself. 1ts existence or 1ts nature.

Sub questions

Question Number : 146 Question Id : 6154757202 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The paragraph above could be considered as a good argument against

(a) The pos=sibility of cognition

(b) Posaibilities of justification of a piece of cognition
(c) Muminative character of knowledge

(d) Possibilities of absolute foundations of knowledge

Select the corect option:

(1) (a) and (d)
(2) (a) and (c)
(3) {b) and (d)
{4) {(b) and (c)
Options:
L1547528081. 1
L1547EZEOEZ. 2

61547528082, 3
E1547528084. 4

Question Number : 147 Question Id : 6154757203 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The difficulty pointed out by the mimamsakas with reference to pratah pramanvavada is:

(1) Anavastha (2) Cakraka
(3) Kiitabhasa (4) Savyabhicara
Options:

E1547528085. 1
B1547528086. 2
B1547528087. 3
E1547528088. 4

Question Number : 148 Question 1d : 6154757204 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following 1s the counterpart of infinite regress in Indian Philosophy?

(1) Cakraka dosa (2) Anavastha dosa
(3) Anyonya asraya dosa (4) Atmdasrayva dosa
Options:

61547528059, 1
61547525030, 2
E15475280391. 3
E15475280392. 4

Question Number : 149 Question Id : 6154757205 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What follows from svatah praman vata of knowledge?

(1) Cognition turns into awareness through another act of awareness

(2) Awareness of cognition 1s a matter of inference

(3) Cognition comes along with the awareness by the very nature of its being
(4) Awareness of cognition 1s always a second order activity

Options:

61547528032, 1
61547525034, 2
E15475280385. 3
E15475280396. 4

Question Number : 150 Question Id : 6154757206 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What CANNOT be reasonably taken to follow from the given passage?

(1) All awareness 1s self-awareness according to Mimamsa and Vedanta
(2) Things are devoid of exastence

(3) There can be no ultimate justification for anyv knowledge claim

(4) Reflexivity 1s an ineluctable part of anv awareness

Options:

E1547528087. 1
E15475280398. 2
615475280845, 3
61547525100, 4

Question Id : 6154757201 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label @ Comprehension
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Sub questions

Question Number : 146 Question Id : 6154757202 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (a) 74T (d)
(2) (a) 947 (c)
(3) (b) 9T (d)
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Options:

61547528081, 1
E1547528082. 2
E15475280282. 2
61547528084, 4

Question Number : 147 Question Id : 6154757203 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547528085, 1
E1547528086. 2
B1547528087. 3
B1547528088. 4

Question Number : 148 Question Id ;: 6154757204 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E15475280853. 1
E154752E080. 2
E15475280391. 3



E15475280382. 4

Question Number : 149 Question Id : 6154757205 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547528093, 1

61547528094, 2

61547528095 2

61547525036, 4

Question Number : 150 Question Id : 6154757206 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547528097, 1

61547528098, 2

E154752803949. 3
E1547525100. 4



